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F— 1 EBEET 2B EBIEEFECOWTHER LUK L oo Bk, BOERET
X BRBELOR Y ORBEIEBETFREOE; LB OHTRET 5.
Table 1 Expected segregation ratio of two marker gene loci and a lethal gene locus after

selfing and crossing. Deviation of segregation ratio by the presence of lethal gene will
be tested on the summed segregation frequency for respective loci.

Program list

Value of recombination Lod score
Segregation ratio and observed numbers of (1:1)x(1:1)
(cf. Table 2, lethal - Table 8)
DD(Dd) Dd(dd) Sum 100~ 10100~
1A 1 3000~ 13000~
ﬁaém;l) Lo } o o GOSUB 23290 (Chi-square data) ~ GOSUB 33346
2 22 2 GOSUB 23324 (Chi-square test) (AGEN$ 1:1)
Sum b by n GOSUB 23502(AGEN$ 1:1)
Segregation ratio and observed numbers of (3:1)x(1:1)
(cf. Table 3, lethal - Tables 8, 9) 4000~ 14000~
D- dd Sum GOSUB 23255(AGEN$ 1:1data)  GOSUB 34056
GOSUB 23290 (Chi-square data) (DGENS$ 3:1)
AA 1
o (El‘:f b den e o GOSUB 23324 (Chi-square test) ~ GOSUB 33346
2 2 2 GOSUB 24306 (DGENS$ 3:1) (AGEN$ 1:1)
Sum by b, n GOSUB 23502(AGENS$ 1:1)
Segregation ratio and observed numbers of (3:1)x(3:1)
(cf. Table 4, lethal — Table 9) 5000~ 15000~
D- dd Sum GOSUB 25053(AGENS$ 3:1 data) GOSUB 34056
A- 9 oy 3 oz ar GOSUB 23290 (Chi-square data) (DGENS$ 3:1)
a 3¢ 1c a GOSUB 23324 (Chi-square test) GOSUB 35177
2 2 2 GOSUB 24306 (DGEN$ 3:1) (AGEN$ 3:1)
Sum b b; n GOSUB 25629 (AGENS$ 3:1)
Segregation ratio and observed numbers of (1:2:1)x(1:1)
(cf. Table 5, lethal - Tables 8, 10) 6000~ 16000~
DD Dd dd Sum GOSUB 23255(AGEN$ 1:1 data) GOSUB 36058
GOSUB 23290 (Chi-square data) (DGENS$ 1:2:1)
jf(;’:f) } o g o } s GOSUB 23324 (Chi-square test) ~ GOSUB 33346
21 2 2 2 GOSUB 26360 (DGEN$ 1:2:1) (AGEN$ 1:1)
Sum b bs bs n GOSUB 23502(AGENS 1:1)
Segregation ratio and observed numbers of (1:2:1)x(3:1)
(cf. Table 6, lethal — Tables 9, 10) 7000~ 17000~

DD Dd  dd Sum GOSUB 25053 (AGEN$ 3:1 data)
GOSUB 23290 (Chi-square data)
A_
o i’ o g i f S GOSUB 23324 (Chi-square test)
21 22 23 2 GOSUB 26360 (DGEN$ 1:2:1)
Sum by bz bs n GOSUB 25629(AGENS 3:1)

Segregation ratio and observed numbers of (1:2:1)x(1:2:1)
(cf. Table 7, lethal - Table 10)

8000~
DD Dd dd Sum ) |
AA 1 9 1 GOSUB 23290 (Ch}—square data
Aa 2 2; 4 (C:Z 9 22 Z; GOSUB 23324 (Chi-square test)
e lon 2 1w m GOSUB 26360 (DGEN$ 1:2:1)
Sum by b b3 n
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GOSUB 36058
(DGENS$ 1:2:1)

GOSUB 35177
(AGEN$ 3:1)

18000~18500
GOSUB 36058
(DGEN$ 1:2:1)

59900~ DATA
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Table 2 (@ Calculation of recombination value(r) in expected segregation ratios of 1 : 1 and
1:1 in two loci.

R=(010-r)
DD(Dd) (1) Dd(dd) (1) R=(CpyHCgp) /Il woerererermemseemenineineies (1)
{1/2)  AaDD(Dd)  AaDd(dd) 0 <R<0.5 r=R (Rep.)
Aa(l) R (1-R) VR)={RA=R)}/n crrorrerrerrers (2)
cu C12 a V() =VR)
aaDD (Dd) aaDd (dd)
aa(1) (1-R) R
C21 C22 az
bl bz n
Odds: {f(r)/£(1/2)}
1) Coupling 2) Repulsion
(1 ¥r)C11+C22(r)CIZ+CZI (I') 511+sz(1 —I‘) Cptey
(O LR (3) e (4)
LOD score=logyo {f(r) /f(1/2)} --oeeevereees (5)

(For lethal gene, see Table 8)

£—-3 @ 290o0EHBEBETFECSWTSI:1E1:10ESELCEHLTV2BE50
MO E B
Table 3 @ Calculation of recombination value (r) in expected segregation ratios of 3 : 1 and
1:1 in two loci.

R=(1-r)
D-(3) dd(1) F(R) =Ag+A R+ AsRZ+HAZRY -oeevrreninens (6)
{1/4} AaD- Aadd A= 2Co
Aa(l) (1+R) (1“R> A1: 2c11—2¢c12— Ca— C
Cu Ci12 a Ay=—3cn— ciz —2Co
aaD- aadd A= cp+ cpt cat ca
aa (1) @—-R) R 0<R<0.5 r=R (Rep.)
Cm c22 2 _9RU+R)(1-R)2-R)
by b n VR =R Ry (7)
Vi) =VR)

Odds: {f(r)/£(1/2)}
1) Coupling 2) Repulsion

@-po@eitne(-—n® (8) (I+0%1—=n)*@-psn%= (9)
(l 5) [STRST! (O S)Clﬁ Czz (1 S)CquCzl(O. 5)C12+C22

LOD score=logo {f(r)/£(1/2)}

(For lethal gene, see Tables 8, 9)
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Table 4 @ Calculation of recombination value (r) in expected segregation ratios of 3 : 1 and

3:1 in two loci.

1) Coupling or 2) repulsion

3) Coupling and repulsion

R=(1—r)2
D-(3) dd(1) D-(3) dd(1)
{1/4} A-D- A-dd {1/4} A-D- A-dd
A-(3) (2+R) (1-R) A-(3) @2+r—r?) (1—-r+r?)
i C12 ay (51 C12 ai
aaD- aadd aaD- aadd
aa(1) (1-R) R aa(1) (1—r+1?) (r—r?)
C21 C22 a2 C21 C22 az
b bs n b b2 n
—2cop— (c11—2¢12—2¢21—C22) R f(r) =Ao+Ar+Aor2+ Agrd+ Agrt+ Agr5---- - (12)
+ (ciitcrateategg)RE e (10) Ap= 2cy
R={(c11—2c12—2Cs1—Ca2) A= c11—2c19—2¢o1—5HCo2

+ ¥ (C11—2¢12— 2¢a1 — C22) 2+ 8nCy} /21
0<R<0.25 r=vR (Rep.)
VR)={2RC+R)(1-R)}/{n(1+2R)} - (11)
V)= VR)/4R

Odds: {f(r)/£(1/2)}

1) Coupling

(3—2r+r2)%u(2r—r2)cetea(] —2r+r2)=
(2.25)1(0. 75) 27 ((. 25) =

2) Repulsion

(2 —+ rZ)Cn(l _r2)512+521 (rz) Coz
(2.25)%:(0.75)2 7= (0. 25)*

3) Coupling and repulsion

(2+r~r2)°“(1 _r+r2) CiztCy (r_rZ)sz
(2.25)(0. 75) (0. 25) =

Lod score=log;o {f(r)/£(1/2)}

As=—4c11+5c12+5¢2 +2¢22

A3: 6011+2822

A4= —5C11—5C12*5021*5022: —5n
As=  2cy1+2c13+2¢o+2¢c2= 2n

0<r 0.5 r (Coup.and rep.)

2r(2—r) 1—r2) (1 —r+r?)

V)= n(1—2r—6r2+16r3—8r4)

(For lethal gene, see Table 9)
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Table 5 @ Calculation of recombination value(r) in expected segregation ratios of 1:2: 1

and 1:1 in two loci.

1) Coupling or 2) repulsion

R=(1-r)
DD(I) Dd(Z) dd(l) R: (C11+C23)/n ...........
{1/44 AaDD  AaDd  Aadd 0<R<0.5 r=R (Rep.)
Aa(1) R 1 (1-R) VR ={RA-R)}/n-
C11 Ci2 C13 ap V) =V(R)
aaDD aaDd aadd
aa(l) (1-R) 1 R
Ca21 C22 Ca3 az
by ba bs n
Odds: {f(r)/£(1/2)}
1) Coupling 2) Repulsion
—)Cutcz Ci3tCan cntCa(1 ) C3tCa
A-peiegere 19 (tes(1—r)

(O 5) CinFCiteati

LOD score=logyo {f(r) /£(1/2)]

(0 5)C11+013*C21+C23

(For lethal gene, see Table 8, 10)
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Table 6 & Calculation of recombination value(r) in expected segregation ratios of 1:2: 1

and 3 :1 in two loci.

1) Coupling or 2) repulsion

3) Coupling and repulsion

R=(1-r)
DD(1) Dd(2) dd(1) DD(1) Dd(2) dd(1)
{1/4} A-DD A-Dd A-dd {1/4y A-DD A-Dd A-dd
A-(3) (2R—R2) (2-2R+2R%) (1—R?) A-(3) (I—r+r?) (1+2r—2r2) (1—r+r2)
i C12 €13 a1 Cnn C12 C13 a
aaDD aaDd aadd aaDD aaDd aadd
aa(1) (1—R)2 (2R—2R?) R? aa(1) (r—r?) (1—2r+2r2) (r—r2)
C21 C22 C23 az Ca1 C22 Ca3 az
by by bs n by b bs n
f(R) =A)+A R+ AR+ AR+ AR AR -+~ (21) f(r) =Ag+Air +Apr? + Agr3 + Ayt + At + Agrb + Aqr7
A0: 2C11+2C22‘+‘4C23 ............................................................ (23)
A= —4cp—2c12—4c — 5egp — 6 A= ot o
Ay= 2c11+5¢12—4c13+2C51+2Co +2Cs3 Ai=— cut 25— ci3— 3ca— 2c— 3ca3
A3:‘ 2¢11+6C13+2Co5 +4Cg3 A= 3cn—12ci+ 3e3— cpt dep— Cy

Ay=—4cn—5c12—6c13—4ca —5c—6C3
A5 = 2C11 + 2C12 + 2C13+ 2(221 + 2C22 + 2C23 =2n

0<R<0.5 r=R (Rep.)

_2R@2-R)(1-R+R®)(1-R)(1+R)
VR)= n(4—5R—3R2+16R3—8RY)

Vi) =VR)

-+ (22)

Odds: {f(r)/£(1/2)}
1) Coupling

(1-12)% (2= 2r +2r2) % (2r —12) 5 (x2) = (2 — 242) (1 = 2 +12)

A3: 2011+32C12+ 2013+18C21+ 8C22+18€23
A4 =—20cy; —50c2— 20013 - 40021 - 30022 - 40023
As= 36c;;+48c12+36C13+44cy +40co+44cs3
Ag=—28c11—28c12—28c13—28Co; — 28Cy3 — 283 =—28n
A7: 8011+ 801z+ 8013+ 8Cz1+ 8022+ 8C23: 8n

0<r<0.5 r (Coup. and rep.)

Ve )_2(1—r+r2) (142r—2r2) (r—r2) (1 —-2r+2r?)
D (1 — 2412+ 8083 — 1200 + 96— 3215)

- (24)

(0.75) 7 (1.5)%2(0. 25)F=((). 5) =

2) Repulsion

(2r—1r2)% (2 2r+2r2)% (1= 12) (1 — 2r +12)  (2r— 2r2)*(r2) =

(0. 75)C11+C13(1 . 5)512(0' 25)C21+C23(0. 5)022

3) Coupling and repulsion

(I—r+r?)*es (] +2r—2r2) 2 (r—r2) ¥ (] — 2r 4 2r2)

(0 75)C11+C13(1 K 5)012 (0 25)Cz1+C23(0' 5) Czz

LOD score=logio {f(r)/f(1/2)}

(For lethal gene, see Table 9, 10)
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Table 7 ® Calculation of recombination value(r) in expected segregation ratios of 1:2:1
and 1:2:1 in two loci.

1) Coupling or 2) repulsion 3) Coupling and repulsion
R=0-r)
DD(1) Dd(2) dd(1) DD(1) Dd(2) dd(1)
{1/4} AADD AADd AAdd {174y AADD AADd AAdd
AAQ1) (R2) (2R—2R%?) (1—R)? AAQ1) (r—r®) (Q—-2r+2r%) (r—r?)
i C12 C13 a1 Cn C12 C13 a;
AaDD AaDd Aadd AaDD AaDd Aadd
Aa(2) 2R(1—-R) 2(1-2R+2R?) 2R(1—-R) Aa(2) Q—2r+2r%) (4r—4r2) (1—2r+2r2)
€21 Caz Cz3 az C21 Ca2 Ca3 dz
aaDD aaDd aadd aaDD aaDd aadd
aa(1) (1—-R)2 (2R—2R?) R? aa(l) (r—r?) (Q—2r+2r?) (r—r?)
C31 C32 C33 asz C31 C32 C33 az
b bg bs n by be bs n
f(R) =A0+A1R+A2R2+A3R3 .................. (28) f(R) =A—2(A+B)r+2(A+B)r2 ............... (30)
A=cy +cigtegtcs e
Ap= 2cpt+ cppt ot cost cpt2css B=cp+co+costcse

Ap=—6cy—4c13—2c13—4dcg1 — 2cp— 4Co3— 25— dczp—6cas
Az: 8011 +6€12+ 4C13+ 6021+ 6C22+ 6C23 +4031 + 6C32 + 8C33
A3: - 4C11 - 4C12 - 4C13— 4C21— 4C22 - 4C23 - 4031 - 4C32 - 40332 —4n 0<r<0.5 r (COllp. and rep.)

r={n+ x/nz‘2H(C11+C13+C22+C31+C33)}/21'1

0<R<0.5 r=R (Rep.) V.(r)z(r—rz) (1—2r+2r2)
2n(1 —4r+4r?)

_R(1—R) (1—2R+2R?)
VR ="a-arrtare) (29)

Vi) =V(R)

Odds: {f(r)/1(1/2)}
1) Coupling

(1 — 2[""1’2) Ci1tCag (21-_ 21-2) CrztCatCogtcp (rz) Ci3tCay (2 _ 4r+4r2> Cz
(0. 25)cn+cu+cal+c33(0. 5)612+C21+023+c32 .......................................... (32)

2 ) Repulsion

(r2)C7en (gr—or?) et ontenTon(] —gr4e2) BT (Q—qrpdrt)®
(0 25)011+C13 C31+033(0_ 5)012+021+023+Caz (33)

3) Coupling and repulsion

(r_r2)511+0x3+‘331+csz (4r— 4r2) Cz2 (1 — 2r+r2)012+‘?21+023+caz
(0 25)Cu+C13+C31+033 (O 5)c12+c21+c23+c32 ...................................................... (34)

LOD score=logyo {f(r)/£(1/2)}

(For lethal gene, see Table 10)
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(4) 7

—9Ah%

(i) m 273544 : RECLOD20
1EIDOFHECANTEX 58T — 5 OFH : 204

(i) =2 AN

7 r 77 sERBODATA (7% : 59900~) CTANT%S

7 — & DFEAB

59900 °

59901 DATA Iwao sugi self 1993 (Test data)««+++s=-rererersrrreesssinreeniniiiininens M X T
59902

59003 DATA 2 coevereerresetrttasintottiieiiotitcciustiooittssetcsionttisestossrassossassass T — y;‘%ﬂiﬁ
59904 °

59905° D FE % vl il S HETHEL

59906°  DGENS$(N) MDS(N) NDS(N)

59907 ' 1 1:1 24

59908 ° 2 3:1 2H4

59909 3H

59910 DATA Dwarf,(®,®7 Lg,®,®,D

59912 DATA 66, 13, 79

59914 DATA 15, 22, 37

59916 DATA 81, 35, 116

59917 A FE % 70 B 2l HEETHEL g i
59918 ° AGEN$(N)  MAS(N) NAS(N) LCR(N)
59919’ 1:1 218 1 HiA
59920’ i1 2 [2 2
59221° [:t) 12 3

59922 DATA Shd-1, , Lg, 2

59924 DATA 7, 47, 1, 5

59926 DATA 0, 2, 16, 18

59928 DATA 7, 49, 17, 73
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(i) FERER B
BRA1DHT — 2 Zl, AR 8 18T %,

BRI T & B R{Z T, RFLP s T O'RAPD FE & o Bflio st BHER H (1)

Iwao sugi self.1993(Test data)

N= 1
DGEN$(N)= Dwarf MDS(N)= 2 NDS(N)= 2 CROS$(N)= Self
SEGR. D-(3) dd(1) TOTAL
AGEN$(N)= Lg
MAS(N)= 2
NAS(N)= 2
A-(3) 66 13 79
aa(1l) 15 22 37
TOTAL 81 35 116
DGEN$ (N)= Dwarf df= 1 5%= 3.841 1% = 6.635
AGEN$ (N)= Lg df=1 5%= 3.841 1% = 6.635
DGEN$ (N) *AGEN$ (N) df= 3 5%= 7.815 1% = 11.340
LINKAGE df=1 5%= 3.841 1% = 6.635

DGEN$ (N) *AGEN$ (N) CDA(N)= 35.632 ** D-A LINKAGE ?

df= 3
DGEN$ (N)= Dwarf df= 1 CD(N)= 1.655 NS
AGEN$(N)= Lg df=1 CA(N)= 2.943 NS
LINKAGE df= 1 CLIN(N)= 31.034 ** D-A LINKAGE
PHASE RECOM. VALUE VARIANCE
Dwarf * Lg

LCR(N)= 1
JCDA(N)= 2
JCD(N)= 0
JCA(N)= 0
JLIN(N)= 2

COUP. DA/da PDAC(N)= 0.247454 DAVC(N)= 0.002249404048

LOD SCORE Dwarf * Lg
PDAC(N)= 0.2475 SC= 4.9222

LOD SCORE Dwarf

LOD SCORE Lg
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BOCEL T & BB {A T, RFLP Eeds X OYRAPD B & off il 0 FH AR 61 (2)

Iwao sugi self.1993(Test data)
N= 2

DGEN$ (N)= Shd-1 MDS(N)= 3 NDS(N)= 3 CROS$(N)= Self LCR(N
SEGR. DD(1) Dd(2) dd(1) TOTAL
AGEN$ (N)= Lg
MAS(N)= 2
NAS(N)= 2
A-(3) 7 47 1 55
aa(1l) 0 2 16 18
TOTAL 7 49 17 73
DGEN$ (N)= Shd-1 df= 2 5%= 5.991 1% = 9.210
AGEN$ (N)= Lg df= 1 5%= 3.841 1% = 6.635
DGEN$ (N) ¥AGEN$ (N) df= 5 5%= 11.070 1% = 15.090
LINKAGE df= 2 5%= 5.991 1% = 9.210
DGEN$ (N) *AGEN$ (N) df= 5 CDA(N)= 67.895 ** D-A LINKAGE ? JCDA(N)=
DGEN$ (N)= Shd-1 df= 2 CD(N)= 11.301 ** lethal gene—1 JCD(N)=
AGEN$ (N)= Lg df= 1 CA(N)= 0.005 NS JCA(N)=
LINKAGE df= 2 CLIN(N)= 56.589 #** D-A LINKAGE JLIN(N)=
PHASE RECOM. VALUE VARIANCE
Shd-1 * Lg
COUP. DA/da PDAC(N)= 0.036826 DAVC(N)= 0.000500406236
PHASE RECOM. VALUE VARIANCE
DGEN$ (N)= Shd-1
1. REP. DIl/dL PDR(N)= 0.144158 DVR(N)= 0.003370790626
LOD SCORE Shd-1 #* Lg
PDAC(N)= 0.0368 SC= 12.4048
LOD SCORE Shd-1
PDR(N)= 0.1442 SC= 2.1550

LOD SCORE Lg
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BOCEETEE & Z3E R T, RFLPE s X 'RAPDEE & Do & 7 = 7' 5 4 (RECLOD20)

100 REM F.N. " RECLOD20 " 1995. 5. 9, OHBA,K.

200 REM

300 REM FILE NAME — RECLOD20 - CALCULATION OF VALUE OF RECOMBINATION
350 DEFINT I-M: DEFDBL A-H,P-Z

400 DIM D1$(2),D2$(2),D3$(3),CROS$(2)

600 DIM DGEN$ (20),AGEN$ (20),MDS(20),MAS(20)

700 DIM C(20,3,3),SA(20,3),8B(20,3),SN(20),NAS(20),NDS(20),LCR(20)
704 DIM CD(20),CA(20),CDA(20),CLIN(20)

706 DIM JCD(20),JCA(20),JCDA(20),JLIN(20)

710 DIM PDAC(20),PDAR(20),PDACR(20),DAVC(20),DAVR(20),DAVCR(20)
712 DIM PDC(20),PDR(20),PDCR(20),DVC(20),DVR(20),DVCR(20)
716 DIM PAC(20),PAR(20),PACR(20),AVC(20),AVR(20),AVCR(20)

740 DIM CHIV5(10),CHIV1(10)

750 D1$(1)="Aa(1)":D1$(2)="aa(1l)":CROS$(1)="Self LCR(N)
752 D2$(1)="A-(3)":D2$(2)="aa(1)":CROS$(2)="Cross LCR(N)
754 D3$(1)="AA(1)":D3$(2)="Aa(2)":D3$(3)="aa(l)"

1
o

won

760 CHIV5(1)=3.841:CHIV5(2)=5.991:CHIV5(3)=7.815:CHIV5(4)=9.488:CHIV5(5)=11.07
762 CHIV5(6)=12.59:CHIV5(7)=14.07:CHIV5(8)=15.51:CHIV5(9)=16.92

764 CHIV1(1)=6.635:CHIV1(2)=9.21:CHIV1(3)=11.34:CHIV1(4)=13.28:CHIV1(5)=15.09
766 CHIV1(6)=16.81:CHIV1(7)=18.48:CHIV1(8)=20.09:CHIV1(9)=21.64

780 DEF FNY(AO,Al,A2,A3,Ad,A5,P)=AO+A1*P+A2%P 2+A3%P"~3+A4%P 4+A5%P"5

782 DEF FNYD(A1,A2,A3,A4,A5,P)=A1+2!¥A2%P+31¥A3%P"2+4 ! ¥A4*%P " 3+51%A5%P" 4

784 READ RM$

800 READ NDAT

850 FOR N=1 TO NDAT
900 READ DGEN$ (N),MDS(N),NDS(N),AGEN$ (N),MAS(N),NAS(N),LCR(N)
1110 KNO(N)=N

1120 FOR I=1 TO NAS(N)
1121 FOR J=1 TO NDS(N)
1122  READ C(N,I,J)
1123 NEXT J

1124  READ SA(N,I)
1125 NEXT I

1127 FOR J=1 TO NDS(N)
1128 READ SB(N,J)

1129 NEXT J

1130 READ SN(N)

1140 NEXT N

2502 ’LPRINT:LPRINT:LPRINT:LPRINT " CHI-SQUARE TEST FOR SEGREGATION "
2505 ° CHI-SQUARE TEST FOR SEGREGATION

2510 °

2515 FOR N=1 TO NDAT

2520 ON MDS(N) GOTO 3000,3030,3060

3001 LPRINT CHR$(12)

3002 LPRINT USING " & & ";RM$

3003 LPRINT:LPRINT USING "N= ## ";N

3004 LPRINT "DGEN$(N)= ";DGEN$(N);" MDS(N)= ";MDS(N);" NDS(N)= ";NDS(N);
3005 LL=LCR(N):LPRINT " CROS$(N)= ";CROS$(LL)

3006 LPRINT " SEGR. DD(Dd) (1) Dd(dd) (1) TOTAL "

3028 GOTO 3200

3031 LPRINT CHR$(12)
3032 ’ LPRINT OUT OF DATA 3:1

3033 LPRINT USING " & & ";RM$
3034 LPRINT USING "N= ## ";N
3036 LPRINT "DGEN$(N)= ";DGEN$(N);" MDS(N)= ";MDS(N);" NDS(N)= ";NDS(N);
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3037 LL=LCR(N):LPRINT " CROS$(N)= ";CROS$(LL)

3038 LPRINT " SEGR. D-(3) dd(1) TOTAL "
3040 °

3058 GOTO 3202

3060 ’

3061 LPRINT CHR$(12)
3062 ’ LPRINT OUT OF DATA 1:2:1

3063 LPRINT USING " & & ";RM$

3064 LPRINT USING "N= ## ";N

3066 LPRINT "DGEN$(N)= ";DGEN$(N);" MDS(N)= ";MDS(N);" NDS(N)= ";NDS(N);
3067 LL=LCR(N):LPRINT " CROS${(N)= ";CROS$(LL)

3068 LPRINT " SEGR. DD(1) Dd(2) dd(1) TOTAL "

3070 °’

3098 GOTO 3204

3200 ON MAS{N) GOTO 3250,3250,3250
3202 ON MAS(N) GOTO 4000,5000,5000
3204 ON MAS(N) GOTO 6000,7000,8000
3250 ° 1:1:1:1

3251 °

3252 GOSUB 23255

3272 ’ CALCULATION OF CHI-SQUARE FOR 1:1:1:1

3274 ’LPRINT:LPRINT:LPRINT " CALCULATION OF CHI-SQUARE FOR 1:1:1:1 "
3276 LPRINT

3280 ’

3282 K1=NDS(N)-1:K2=NAS(N)-1:K12=NDS(N)*NAS(N)-1:K22=K12-K1-K2

3284 CHID5=CHIV5(K1):CHID1=CHIV1(K1):CHIA5=CHIV5(K2):CHIA1=CHIV1(K2)
3286 CHIDA5=CHIV5(K12):CHIDA1=CHIV1(K12):CV5=CHIV5(K22):CV1=CHIV1(K22)
3288 ’

3289 GOSUB 23290

3312 CD(N)=(SB(N,1)"2+SB(N,2)"2)/(.5%SN(N))-SN(N)
3314 CA(N)=(SA(N,1)"2+SA(N,2)"2)/(.5%SN(N))-SN(N)
3316 X1=C(N,1,1)"2+C(N,1,2) 24+C(N,2,1)"2+C(N,2,2)"2
3318 CDA(N)=X1/(.25%SN(N))=-SN(N)

3320 CLIN(N)=CDA(N)—CD(N)-CA(N)

3321 LPRINT

3322 ’

3323 GOSUB 23324

3425 ’CALCULATION OF RECOM. VALUE WITH MAXIMUM LIXKELIHOOD METHOD "

3426 IF JLIN(N)=0 THEN GOTO 3466

3428 P=(C(N,1,1)+C(N,2,2))/SN(N)

3430 DAVR(N)=(P*(1{-P))/SN(N)

3432 LPRINT:LPRINT:LPRINT " PHASE RECOM. VALUE VARIANCE "
3434 LPRINT USING " & &* & & ";DGEN$ (N),AGEN$ (N)

3436 IF P > .5 THEN GOTO 3450

3438 PDAR(N)=P

3440
3442 LPRINT " REP. Da/dA ";
3444 LPRINT USING " PDAR(N)= #.###### ";PDAR(N);

3446 LPRINT USING " DAVR(N)= #.¥#####4##8## ";DAVR(N)
3448 GOTO 3458
3450 PDAC(N)=1!-P:DAVC(N)=DAVR(N)

3452 LPRINT " COUP. DA/da ";

3454 LPRINT USING " PDAC(N)= #.###### ";PDAC(N);

3456 LPRINT USING " DAVC(N)= #.########4### ";DAVC(N)

3458 °

3466 ’ " CAL. OF RECOM VALUE WITH LETHAL FOR DGEN$ (N) BY MAX.L. METHOD "
3468 IF JCD(N)=0 THEN GOTO 3496

3470

3472 P=(2!*SB(N,2)-SB(N,1))/SN(N)
3474 VR=((1!+P)*(2!-P))/SN(N)
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LPRINT:LPRINT:LPRINT " PHASE RECOM. VALUE VARIANCE
LPRINT USING " DGEN$(N)= & & ";DGEN$(N)

IF P > .5 THEN GOTO 3492

PDC(N)=P

DVC(N)=VR

LPRINT " 1. COUP.DL/dl ";

LPRINT USING " PDC(N)= #.###444# ";PDC(N);
LPRINT USING " DVC(N)= #.####4###44#4#4# ", DVC(N)
GOTO 3496

PDR(N)=1!-P:DVR(N)=VR

LPRINT " 1. REP. Dl/dL ";

LPRINT USING " PDR(N)= #.#####4 ", PDR(N);

LPRINT USING " DVR(N)= #.#######44444 ";DVR(N)

> " CAL. OF RECOM VALUE WITH LETHAL FOR AGEN$(N) BY MAX.L. METHOD "
IF JCA(N)=0 THEN GOTO 3550

GOSUB 23502

GOTO 9500

2

*3:1:3:1

»

GOSUB 23255

K1=NDS(N)-1:K2=NAS(N)-1:K12=NDS(N)*NAS(N)-1:K22=K12-K2-K1
CHID5=CHIV5(K1):CHID1=CHIV1(K1):CHIA5=CHIV5(K2):CHIA1=CHIV1(K2)
CHIDA5=CHIV5(K12) :CHIDA1=CHIV1(K12):CV5=CHIV5(K22) :CV1=CHIV1(K22)
LPRINT

3

GOSUB 23290

CD(N)=8B(N,1)"2/(.75%SN(N))+SB(N,2)"2/(.25%SN(N))-SN(N)
CA(N)=(SA(N,1)"2+SA(N,2)"2)/(.5%SN(N))-SN(N)
X1=(C(N,1,1)"2+C(N,2,1)"2)/(.375*8N(N))
X2={(C(N,1,2)"2+C(N,2,2)"2)/(.125%8SN(N))
CDA(N)=(X14+X2)-SN(N)

CLIN(N)=CDA(N)-CD(N)-CA(N)

LPRINT

GOSUB 23324
’CALCULATION OF RECOM. VALUE WITH MAXIMUM LIKELIHOOD METHOD "
IF JLIN(N)=0 THEN GOTO 4300

A0=21%C(N,2,2)
A1=21%C(N,1,1)-2!*C(N,1,2)~C(N,2,1)-C(N,2,2)
A2=-3!*%C(N,1,1)-C(N,1,2)-21%C(N, 2,2)
A3=SN(N)

A4=0'!

A5=01

P=.001:EPS=1E-08
Y1=FNY(AO,Al,A2,A3,A4,A5,P)
Y2=FNYD(A1,A2,A3,Ad,A5,P)

P1=P-Y1/Y2

IF(ABS(P1-P)/ABS(P)) <= EPS THEN GOTO 4236
P=P1

GOTO 4224

V71=21%P*(2!1-P)*(1!-P)*(11+P)
V72=SN(N)*(1!1421%P-21%P"2)

V7=V71/V72

3

LPRINT:LPRINT:LPRINT " PHASE RECOM. VALUE VARIANCE
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LPRINT USING " & &% & & ";DGEN$ (N),AGEN$ (N)
IF P > .5 THEN GOTO 4262

PDAR(N)=P

DAVR(N)=V7

LPRINT " REP. Da/dA ";

LPRINT USING " PDAR(N)= #.###### ";PDAR(N);
LPRINT USING " DAVR(N)= #.######444### " ;DAVR(N)
GOTO 4270

PDAC(N)=1!-P:DAVC(N)=V7

LPRINT " COUP. DA/da ";

LPRINT USING " PDAC(N)= #.######4 ";PDAC(N);

LPRINT USING " DAVC(N)= #.#######444## " ;DAVC(N)

’

> " CAL. OF RECOM VALUE WITH LETHAL FOR DGEN$(N) BY MAX.L. METHOD "
IF JCD(N)=0 THEN GOTO 4500

GOSUB 24306

> " CAL. OF RECOM VALUE WITH LETHAL FOR AGEN$(N) BY MAX.L. METHOD "
IF JCA(N)=0 THEN GOTO 4536

>

GOSUB 23502

GOTO 9500

ON MAS(N) GOTO 5050,5050,6000

9:3:3:1
LPRINT OUT OF DATA 3:1 AGEN$(N)

GOSUB 25053

K1=NDS(N)-1:K2=NAS(N)—1:K12=NDS(N)*NAS(N)-1:K22=K12-K1-K2
CHID5=CHIV5 (K1) :CHID1=CHIV1 (K1) :CHIA5=CHIV5(K2):CHIA1=CHIV1(K2)
CHIDA5=CHIV5(K12):CHIDA1=CHIV1(K12):CV5=CHIV5(K22):CV1=CHIV1(K22)
LPRINT

GOSUB 23290

CD(N)=SB(N,1)"2/(.75%SN(N
CA(N)=SA(N, 1)“2/( 75*SN(N

))+SB(N,2)"2/(.25%8N(N))-SN(N)
))+8

X1=C(N,1,1)"2/(. 5625*SN(N))
2)/
))

A(N,2)"2/(.25%SN(N))-SN(N)

X2=(C(N,1,2)"2+C(N,2,1)"
X3=C(N,2,2)°2/(.0625%SN(N
CDA(N)=(X1+X2+X3)—-SN(N)
CLIN(N)=CDA(N)-CD(N)—CA(N)
LPRINT

3

(.1875%SN(N))

GOSUB 23324

’CALCULATION OF RECOM. VALUE WITH MAXIMUM LIKELIHOOD METHOD "
IF JLIN(N)=0 THEN GOTO 5450

A0=-21!*C(N,2,2)
A1=-C(N,1,1)+21*C(N,1,2)+2!*C(N,2,1)+C(N,2,2)
A2=8N(N)

A3=0!

A4=0!

A5=0!

P=.001:EPS=1E-08

Y1=FNY(AO,Al1,A2,A3,A4,A5,P)
Y2=FNYD(A1,A2,A3,A4,A5,P)
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P1=P-Y1/Y2

IF(ABS(P1-P)/ABS(P)) <= EPS THEN GOTO 5344
P=P1

GOTO 5332

V71=(21+P)*(1!-P)

V72=2!1%SN(N)*(1!1+42!%P)

V7=v71/V72

PS=SQR(P)

LPRINT:LPRINT:LPRINT " PHASE RECOM. VALUE
LPRINT USING " & &* & & ";DGEN$ (N),AGEN$ (N)

IF PS > .5 THEN GOTO 5368

PDAR(N)=PS

DAVR(N)=V7

LPRINT " REP. Da/dA ";

LPRINT USING " PDAR(N)= #.####4% " ;PDAR(N);
LPRINT USING " DAVR(N)= #.####444#4#### " ;DAVR(N)

GOTO 5376
PDAC(N)=1!-PS:DAVC(N)=V7

LPRINT " COUP. DA/da ";
LPRINT USING " PDAC(N)= #.####44 " ,PDAC(N);
LPRINT USING " DAVC(N)= #.############ " ;DAVC(N)

’ CAL OF RECOM. VALUE FOR COUP. AND REP.

IF LCR(N)=1 THEN GOTO 5450

A0=21%C(N,2,2)
A1=C(N,1,1)-21%C(N,1,2)-2!1*C(N,2,1)-5!*C(N,2,2)
A2=—41%C(N,1,1)+5!*C(N,1,2)+5!%C(N,2,1)+21%C(N,2,2)
A3=61*C(N,1,1)+2!%C(N,2,2)

A4=—51*SN(N)

A5=2 1 #SN(N)

AB=0!

P=.001:EPS=1E-09

Y1=FNY(AO,Al,A2,A3,A4,A5,P)
Y2=FNYD(A1,A2,A3,Ad,A5,P)

P1=P-Y1/Y2

IF (ABS(P1-P)/ABS(P)) <= EPS THEN GOTO 5393
P=P1

GOTO 5387

VZ=2!1#%P* (21-P)*(11-P 2)* (1! -P+P"2)
VW=SN(N)*(1!-21%P—6!%P"2+16!%P"~3-8!%P"4)
VR=VZ/VW

PDACR(N)=P:DAVCR(N)=VR

LPRINT "  COUP.AND REP.";

LPRINT USING " PDACR(N)= #.###### ";PDACR(N);
LPRINT USING " DAVCR(N)=#.#####4#4#4#4# " ;DAVCR(N)

FARHEF125 96

VARIANCE

> " CAL. OF RECOM VALUE WITH LETHAL FOR DGEN$(N) BY MAX.L. METHOD "

IF JCD(N)=0 THEN GOTO 5626

3

GOSUB 24306

3>

> " CAL. OF RECOM VALUE WITH LETHAL FOR AGEN$(N) BY MAX.L. METHOD "

IF JCA(N)=0 THEN GOTO 5750
GOSUB 25629

GOTO 9500

ON MAS(N) GOTO 6010,7000,8000
’1:2:1:1:2:1

’ LPRINT OUT OF DATA 1:1 AGEN$(N)

GOSUB 23255
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6052 K1=NDS(N)-1:K2=NAS(N)—-1:K12=NDS(N)*NAS(N)-1:K22=K12-K1-K2

6054 CHID5=CHIV5(K1):CHID1=CHIV1(K1):CHIA5=CHIV5(K2):CHIA1=CHIV1(K2)
6056 CHIDA5=CHIV5(K12):CHIDA1=CHIV1(K12):CV5=CHIV5(K22):CV1=CHIV1(K22)
6057 LPRINT

6059 GOSUB 23290

6152 CD(N)=(SB(N,1)"2+SB(N,3)"2)
6154 CA(N)=(SA(N,1)"2+SA(N,2)"2)
6156 X1=(C(N,1,1)"2+C(N,1,3)"2+C
6158 X2=(C(N,1,2)"2+C(N,2,2)"2)/

/(.25%SN(N))+SB(N,2)"2/(.5%SN(N))-SN(N)
/(.5%¥SN(N))—SN(N)
(N,2,1)"24C(N,2,3)"2)/(.125%SN(N))
(.25%SN(N))

6160 CDA(N)=(X1+X2)~SN(N)

6162 CLIN(N)=CDA(N)-CD(N)-CA(N)

6163 LPRINT

6195 GOSUB 23324

6306 ° CALCULATION OF RECOM. VALUE WITH MAXIMUM LIKELIHOOD METHOD !
6308 IF JLIN(N)=0 THEN GOTO 6352

6320 P=(C(N,1,1)+C(N,2,3))/SN(N)

6322 VB=(2!*%P*(11-P))/SN(N)

6326 LPRINT:LPRINT:LPRINT " PHASE RECOM. VALUE VARIANCE "
6328 LPRINT USING " & &* & & ";DGEN$ (N),AGENS$ (N)
6330 IF P > .5 THEN GOTO 6344

6332 PDAR(N)=P

6334 DAVR(N)=V6

6336 LPRINT " REP. Da/dA ";

6338 LPRINT USING " PDAR(N)= #.###### ";PDAR(N);
6340 LPRINT USING " DAVR(N)= #.############ " ;DAVR(N)
6342 GOTO 6352

6344 PDAC(N)=1!-P:DAVC(N)=V6

6346 LPRINT " COUP. DA/da ";

6348 LPRINT USING " PDAC(N)= #.####4% " ;PDAC(N);
6350 LPRINT USING " DAVC(N)= #.#######4#4#4 " ;DAVC(N)
6352 ’

6354 ’ " CAL. OF RECOM VALUE WITH LETHAL FOR DGEN$(N) BY MAX.L. METHOD "
6356 IF JCD(N)=0 THEN GOTO 6532

6358 ’

6359 GOSUB 26360

6530 ’

6532 ’ " CAL. OF RECOM VALUE WITH LETHAL FOR AGEN$(N) BY MAX.L. METHOD "
6534 IF JCA(N)=0 THEN GOTO 6610

6536 °

6537 GOSUB 23502

6610 ’

6999 GOTO 9500

7000 ’

7002 ’ 3:6:3:1:2:1

7010 ~’

7011 ’ LPRINT OUT OF DATA 3:1 AGEN$(N)

7012 °

7013 GOSUB 25053

7050 ’

7052 K1=NDS(N)-1:K2=NAS(N)—-1:K12=NDS(N)*NAS(N)-1:K22=K12-K1-K2

7054 CHID5=CHIV5(K1):CHID1=CHIV1(K1):CHIA5=CHIV5(K2):CHIA1=CHIV1(K2)
7056 CHIDA5=CHIV5(K12):CHIDA1=CHIV1(K12):CV5=CHIV5(K22):CV1=CHIV1(K22)
7057 LPRINT

7059 GOSUB 23290

7152 CD(N)=(SB(N,1)"2+SB(N,3)"2)/(.25%SN(N))+SB(N,2)"~2/(.5%SN(N))-SN(N)
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CA(N)=SA(N,1)"2/(.75%SN(N))+SA(N,2)"2/(.25%SN(N))-SN(N)
X1=(C(N,1,1)724+C(N,1,3)"2)/(.1875%SN(N))

X2=C(N,1,2)72/(.375%SN(N))+C(N,2,2)"2/(.125%SN(N))

X3=(C(N,2,1)"2+C(N,2,3)"2)/(.0625%SN(N))

CDA(N)=(X1+X2+X3)—-SN(N)
CLIN(N)=CDA(N)-CD(N)-CA(N)
LPRINT

GOSUB 23324

’CALCULATION OF RECOM. VALUE WITH MAXIMUM LIKELIHOOD METHOD

IF JLIN(N)=0 THEN GOTO 7420

A0=2!*C(N,1,1)+2!*C(N,2,2)+4!*C(N,2,3)
Al=—-41*(C(N,1,1)+C(N,2,1))-2t*C(N,1,2)-5!*C(N,2,2)-6!*C(N,2,3)
A2=21%(C(N,1,1)+C(N,2,1)+C(N,2,2)+C(N,2,3))+5!*C{N,1,2)-4!*C(N,1,3)

A3=2!%(C(N,1,1)+C(N,2,2))+6!*C(N,1,3)+4!*C(N,2,3)
A4=-51*%SN(N)+C(N,1,1)+C(N,2,1)-C(N,1,3)-C(N,2,3)

AB5=21%SN(N)

P=.001:EPS=1E-08

Y1=FNY (AO,Al,A2,A3,A4,A5,P)
Y2=FNYD(Al,A2,A3,A4,A5,P)
P1=P-Y1/Y2

IF(ABS(P1-P)/ABS(P)) <= EPS THEN GOTO 7329

P=P1
GOTO 7322
V71=21%P*(2!-P)*(1!{-P+P"2) %

(11-P~2)

V72=SN(N)*(4!-51%P-3!1*P"2+16!*%P"3-8!1%P"4)

V7=V71/VT72

LPRINT :LPRINT:LPRINT "
LPRINT USING " & &* &
IF P > .5 THEN GOTO 7352

PDAR(N)=P

DAVR(N)=V7

LPRINT " REP. Da/dA ";

LPRINT USING "  PDAR(N)=

LPRINT USING " DAVR(N)= #.####54%8888S
GOTO 7360

PDAC(N)=11-P:DAVC(N)=V7

LPRINT " COUP. DA/da ";

LPRINT USING "  PDAC(N)=

’ CAL OF RECOM. VALUE FOR COUP. AND REP.

IF LCR(N)=1 THEN GOTO 7422
AO0=C(N,2,1)+C(N,2,3)

A1=—8N(N)+3!*C(N,1,2)-2!*C(N,2,1)-C(N,2,2)-21*C(N,2,3)
A2=3!*%*(C(N,1,1)+C(N,1,3)+C(N,2,2))-121*C(1,2)+C(N,2,2)-C(N,2,1)-C(N,2,3)
A3=2!*SN(N)+30!*C(N,1,2)+16!*C(N,2,1)+6!*C(N,2,2)+16!*C(N,2,3)
A4=-20!*SN(N)-30!*C(N,1,2)-20!*C(N,2,1)-10!*C(N,2,2)~20!*C(N,2,3)
A5=36!*SN(N)+12!*C(N,1,2)+8!*C(N,2,1)+4!*C(N,2,2)+8!*C(N,2,3)

AB=—281*SN(N)
AT=8!%S8N(N)

3

P=.001:EPS=1E-08

TZ=A0+A1*P+A2%P"2+A3*P " 3+A4%P " 4+A5%P " 5+A6%P " 6+AT*P" 7
TW=A1+21*A2*%P+3 | ¥A3*%P"2+4 ! ¥A4*P"3+51 ¥A5%P 446! ¥A6*P " 5+7 1 *AT*P"6

P1=P-TZ/TW

PHASE

RECOM. VALUE

& ";DGEN$(N),AGEN$ (N)

#.###### " ;PDAR(N);

";DAVR(N)

#.#####4 ", PDAC(N);
LPRINT USING " DAVC(N)= #.####444444444% ";DAVC(N)

IF (ABS(P1-P)/ABS(P)) <= EPS THEN GOTO 7398

P=P1
GOTO 7384
PDACR(N) =P
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7400
7402
7403
7404
7406
7408
7410
7412
7414
7420
7422
7424

VZ=21%(11-P+P " 2)* (11421 %P-21%P"2)* (P-P"2)* (1! -21%P+21%P"2)
VW=SN(N)*(1!—24!*P“2+BO!*PA3—120!*P“4+96!*P"5—32!*P"6)

IF VW=0! THEN GOTO 7406

VR=VZ/VW:DAVCR(N)=VR:GOTO 7408

DAVCR(N)=0!

LPRINT " COUP.AND REP.";

LPRINT USING " PDACR(N)= #.###### ";PDACR(N);

LPRINT USING " DAVCR(N)=#.#####4###4## " ;DAVCR(N):GOTO 7420
’LPRINT " COUP. AND REP. - SQR(-) "

> " CAL. OF RECOM VALUE WITH LETHAL FOR DGEN$(N) BY MAX.L. METHOD "
IF JCD(N)=0 THEN GOTO 7600

GOSUB 26360

' " CAL. OF RECOM VALUE WITH LETHAL FOR AGEN$ (N) BY MAX.L. METHOD "
IF JCA(N)=0 THEN GOTO 7742

GOSUB 25629

GOTO 9500
P 1:2:1:2:4:2:1:2:1
’ LPRINT OUT OF DATA 1:2:1 AGEN$ (N)

LPRINT "AGEN$(N)= ";AGEN$ (N):LPRINT "MAS(N)= ";MAS(N)
LPRINT "NAS(N)= ";NAS(N)
FOR I=1 TO NAS(N):LPRINT USING " & & ";D3$(I);

FOR J=1 TO NDS(N)
LPRINT USING " ##### ";C(N,I,J);

NEXT J

LPRINT USING " ##### ";8A(N,I)
NEXT I

LPRINT:LPRINT " TOTAL ";

FOR J=1 TO NDS(N)

LPRINT USING " ####4 ";SB(N,J);
NEXT J

LPRINT USING " ###4# ", SN(N)

K1=NDS(N)~-1:K2=NAS(N)-1:K12=NDS(N)*NAS(N)-1:K22=K12-K1-K2
CHID5=CHIV5(K1):CHID1=CHIV1(K1):CHIA5=CHIV5(K2):CHIA1=CHIV1(KZ)
CHIDA5=CHIV5(K12):CHIDA1=CHIV1(K12):CV5=CHIV5(K22):CV1=CHIV1(K22)
LPRINT

GOSUB 23290

CD(N)=(SB(N,1)"2+SB(N,3)"2)/(.25%SN(N))+SB(N,2)"2/(.5%SN(N
CA(N)=(SA(N,1)"2+SA(N,3)"2)/(.25%SN(N))+SA(N,2)"2/(.5%SN(N
X1=(C(N,1,1)"2+C(N,1,3)"2+C(N,3,1)"2+C(N,3,3)"2)/(.0625%SN
X2=(C(N,1,2)"2+C(N,2,1)"2+C(N,2,3) "2+C(N,3,2)"2)/(.125%8N(
X3=C(N,2,2)"2/(.25%SN(N))

CDA(N)=(X1+X2+X3)-SN(N)

CLIN(N)=CDA(N)—CD(N)-CA(N)

LPRINT

2 o e
— e
~—— |

GOSUB 23324
’ CALCULATION OF RECOM. VALUE(P) WITH MAXIMUM LIKELIHOOD METHOD "
IF JLIN(N) = 0 THEN GOTO 8585

LPRINT
A0=21%(C(N,1,1)+C(N,3,3))+C(N,1,2)+C(N,2,1)+C(N,2,3)+C(N,3,2)
Al=—41%SN(N)-2!*(C(N,1,1)+C(N,3,3)-C(N,1,3)-C(N,2,2)-C(N,3.1))
A2=6!*SN(N)+2!%(C(N,1,1)+C(N,3,3)-C(N,1,3)-C(N,3,1))

A3=—41%SN(N)
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A4=0!
A5=0!

P=.001:EPS=1E-09

Y1=FNY(AO,Al1,A2,A3,A4,A5,P)

Y2=FNYD(A1,A2,A3,A4,A5,P)

P1=P-Y1/Y2

IF (ABS(P1-P)/ABS(P)) <= EPS THEN GOTO 8390

P=P1

GOTO 8360

LPRINT:LPRINT:LPRINT " PHASE RECOM. VALUE VARIANCE

LPRINT USING " & &* & & ";DGEN$ (N),AGEN$ (N)
VR=(P*(1!-P)*(1-2!%P+2!*¥P"2))/(2!*SN(N)*(1!-3!%P+31%P"2))
IF P > .5 THEN GOTO 8420

PDAR(N) =P

DAVR(N)=VR

LPRINT " REP. Da/dA ";

LPRINT USING " PDAR(N)= #.#####4 " ,PDAR(N);
LPRINT USING " DAVR(N)= #.####44444444 ";DAVR(N)
GOTO 8425

PDAC(N)=1!-P:DAVC(N)=VR

LPRINT " COUP. DA/da ";

LPRINT USING " PDAC(N)= #.###### " ;PDAC(N);
LPRINT USING " DAVC(N)= #.######444### ";DAVC(N)
’GOTO 8950

IF LCR(N) = 1 THEN GOTO 8585

> COUP. AND REP.
Z1=C(N,1,1)+C(N,1,3)+C(N,2,2)+C(N,3,1)+C(N, 3, 3)
Z2=SN(N) "2-2 1 *SN(N) *Z1

IF Z2 < 0! GOTO 8582

P8=(SN(N)+SQR(Z2))/ (21 *SN(N))

VR8=( (P8-P8°2)* (1!—21%P8+21%P872))/(2!*SN(N)*(11—-4!%P8+4!%P8"~2))
PDACR (N)=P8: DAVCR(N) =VR8

LPRINT "  COUP.AND REP.";

LPRINT USING " ©PDACR(N)= #.###### ";PDACR(N);

LPRINT USING " DAVCR(N)=#.#####4####4# " ;DAVCR(N):GOTO 8585
LPRINT "  COUP. AND REP. — SQR(-) "

> " CAL. OF RECOM VALUE WITH LETHAL FOR DGEN$(N) BY MAX.L. METHOD "
IF JCD(N)=0 THEN GOTO 8760

GOSUB 26360

’ " CAL. OF RECOM VALUE WITH LETHAL FOR AGEN$(N) BY MAX.L. METHOD "
IF JCA(N)=0 THEN GOTO 8950

A0=2!1%*SA(N,3)
Al=-21*SA(N,2)-4!%SA(N,3)
A2=-41%SA(N,1)+5!*#SA(N,2)+2!*SA(N, 3)
A3=6!*SA(N,1)+2!*SA(N,3)
A4=—61*%SA(N,1)~-5!*SA(N,2)-4!*SA(N,3)
A5=21*%SN(N)

P=.001:EPS=1E-09

Y1=FNY(AO,A1,A2,A3,A4,A5,P)

Y2=FNYD(A1,A2,A3,A4,A5,P)

P1=P-Y1/Y2

IF (ABS(P1-P)/ABS(P)) <= EPS THEN GOTO 8794

P=P1

GOTO 8782

LPRINT:LPRINT:LPRINT " PHASE RECOM. VALUE VARIANCE

LPRINT USING " AGEN$(N)= & & ";AGEN$ (N}
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8798 V1=3!*P*(2!-P)*(1!-P"2)%(1!-P+P"2)

8800 V2=2!*%SN(N)*(2!—-4!*P-31*%P"2+14!*%P"3-7!%P"4)
8802 VR=V1/V2

8804 IF P > .5 THEN GOTO 8818

8806 PAC(N)=P

8808 AVC(N)=VR

8810 LPRINT " 1. COUP.DL/d1 ";

8812 LPRINT USING " PAC(N)= #. 444444 " PAC(N);
8814 LPRINT USING " AVC(N)= #.###44444#### " ;AVC(N)
8816 GOTO 8828

8818 PAR(N)=1!-P:AVR(N)=VR

8820 LPRINT " 1. REP. Dl/dL ";

8822 LPRINT USING " PAR(N)= #.##4844 " ;PAR(N);
8824 LPRINT USING " AVR(N)= #.####44##44%# " ;AVR(N)
8826 °

8828 IF LCR(N)=1 THEN GOTO 8950
8830 AO0=-SA(N,1)+2!*SA(N,2)-SA(N,3)
8832 Al1=—6!*SA(N,2)

8834 A2=6!*SN(N)

8836 A3=—4!*SN(N)

8838 A4=0!:A5=0!

8842 P=.001:EPS=1E-09

8844 Y1=FNY(AO,Al,A2,A3,A4,A5,P)

8846 Y2=FNYD(A1,A2,A3,A4,A5,P)

8848 P1=P-Y1/Y2

8850 IF (ABS(P1-P)/ABS(P)) <= EPS THEN GOTO 8896
8892 P=P1

8894 GOTO 8844

8896 VR8=SN(N)*(1!-4!*%P+4!%P"2)

8898 IF VR8 =< 0! THEN GOTO 8904

8900 AVCR(N)=((1!—P+P”2)*(1!+2!*P—2!*PAZ))/(2!*SN(N)*(l!—4!*P+4!*P"2))
8902 GOTO 8908

8904 AVCR(N)=0!

8908 PACR(N)=P

8910 LPRINT " 3. COUP.AND REP.";

8912 LPRINT USING " PACR(N)= #.###### ";PACR(N);

8914 LPRINT USING " AVCR(N)= #.######4###4#4 " ;AVCR(N):GOTO 8950
8916 'LPRINT " 3. COUP. AND REP. - SQR(-) "

10100 REM CALCULATION OF LOD SCORE

10801 DEF FNZ1(P,N1)=(1-P)"N1

10802 DEF FNZ2(P,N2)=P"N2

10803 DEF FNZ3(P,N3)=(2!-P)"N3

10804 DEF FNZ4(P,N4)=(1!+P)" N4

10805 DEF FNZ5(P,N5)=(3!-2!%P+P"2)"N5

10806 DEF FNZ6(P,N6)=(2!*P-P"2)"N6

10807 DEF FNZ7(P,N7)=(2!4P"2)"N7

10808 DEF FNZ8(P,N8)=(1!-P"2)"N8

10809 DEF FNZ9(P,N9)=(2!4P-P"2)"N9

10810 DEF FNZ10(P,N10)=(1!-P+P"2)"N10

10811 DEF FNZ11(P,N11)=(1!-2!*%P+P"2)"N11
10812 DEF FNZ12(P,N12)=(P"2)"N12

10813 DEF FNZ13(P,N13)=(P-P"2)"N13

10814 DEF FNZ14(P,N14)=(1!+2!*P-21%P"2)"N14
10815 DEF FNZ15(P,N15)=(2!-2!%P+2!%P"2)"N15
10816 DEF FNZ16(P,N16)=(2!*P-2!%P"2)"N16
10817 DEF FNZ17(P,N17)=(1!-2!1%P+2!%P"2)"N17
10818 DEF FNZ18(P,N18)=(2!-4!*P+4!%P~2)"N18
10819 DEF FNZ19(P,N19)=(4!%*P-4!%P"2)"N19
10820 TL=LOG(10)
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10821
10822
10823
10824
10825
12502
12505
12515
12520
13200
13202
13204
13250
13255
13256
13258
13260
13262
13264
13265
13266
13268
13270
13272
13274
13276
13278
13280
13282
13284
13286
13288
13290
13292
13294
13296
13298
13300
13302
13304
13306
13308
13310
13312
13314
13316
13318
13320
13322
13324
13326
13328
13330
13332
13334
13340
13341
13342
13343
13344
13345
13346
13348

BFAEREI2S "96

DEF FNW1(M1)=(2.25)"M1

DEF FNW2(M2)=(1.5)"M2

DEF FNW3(M3)=(.75)"M3

DEF FNW4(M4)=(.5)"M4

DEF FNW5(M5)=(.25)"M5

’LPRINT:LPRINT:LPRINT:LPRINT " CHI-SQUARE TEST FOR SEGREGATION "

> CHI-SQUARE TEST FOR SEGREGATION
> N=KNO(N)
ON MDS(N) GOTO 13200,13202,13204
ON MAS(N) GOTO 13250,13250,13250
ON MAS(N) GOTO 14000,15000,15000
ON MAS(N) GOTO 16000,17000,18000

*o1:1:1:1
LPRINT "AGEN$(N)= ";AGEN$(N):LPRINT "MAS(N)= ";MAS(N)
LPRINT "NAS(N)= ";NAS(N):LPRINT:LPRINT

IF JLIN(N)=0 THEN GOTO 13294

K1=C(N,1,1):K2=C(N,1,2)

K3=C(N,2,1) :K4=C(N,2,2)

LPRINT:LPRINT:LPRINT USING "LOD SCORE & &*& &" ;DGEN$ (N) ,AGEN$ (N)
IF PDAC(N)=<0! OR PDAC(N)>.5 THEN GOTO 13280
P=PDAC(N) : LPRINT USING " PDAC(N)= #.#### ";P;
U1=FNZ1(P,K1)/FNW4 (K1) :U2=FNZ1(P,K4)/FNW4 (K4)
U3=FNZ2(P,K2)/FNW4 (K2) : U4=FNZ2 (P,K3) /FNW4 (K3)
UU=U1*U2%U3%*U4

SC=LOG(UU) /TL:LPRINT USING " SC=###.#### ",;SC
GOTO 13294

IF PDAR(N)=<0! OR PDAR(N)>.5 THEN GOTO 13294
P=PDAR(N) :LPRINT USING " PDAR(N)= #.####% ",P;
U1=FNZ2(P,K1)/FNW4 (K1) : U2=FNZ2(P,K4)/FNW4 (K4)
U3=FNZ1(P,K2)/FNW4(K2) : U4=FNZ1(P,K3)/FNW4 (K3)
UU=U1*U2*U3*U4

SC=LOG(UU)/TL:LPRINT USING " SC=###.#### ";8C

> LOD SCORE CALCULATION FOR DGEN$(N) 1:1
LPRINT:LPRINT:LPRINT USING "LOD SCORE & &" ;DGENS$ (N)
IF JCD(N)=0 THEN GOTO 13340

N1=SB(N,1):N2=SB(N,2)

IF PDC(N)=<0! OR PDC(N)>.5 THEN GOTO 13320

P=PDC(N) :LPRINT USING " PDC(N)= #.#### ";P;

G1=FNZ3(P,N1)/FNW2(N1) :G2=FNZ4 (P,N2)/FNW2 (N2)
GG=G1#*G2:IF GG=<0! THEN GOTO 13316
GS=LOG(GG) /TL

LPRINT USING " SC=###.#4##4 ";GS: GOTO 13340
LPRINT " ODDS= 0. ":GOTO 13340

IF PDR(N)=<0! OR PDR(N)>.5 THEN GOTO 13340
P=PDR(N) :LPRINT USING " PDR(N)= #.#### ";P
G21=FNZ4(P,N1)/FNW2(N1):G22=FNZ3(P,N2)/FNW2
GG2=G21*G22: IF GG2=<0! THEN GOTO 13334
GS2=LOG(GG2) /TL

(N2)

LPRINT USING " SC=### .#### ",GS2
GOTO 13340
LPRINT " oDpDsS= 0. "

’ LOD SCORE CALCULATION FOR AGEN$(N) 1:1
LPRINT:LPRINT:LPRINT USING "LOD SCORE & &" ; AGEN$ (N)
IF JCA(N)=0 THEN GOTO 13400

GOSUB 33346

N1=SA(N,1):N2=SA(N,2)
IF PAC(N)=<0! OR PAC(N)>.5 THEN GOTO 13366
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13350
13354
13356
13358
13360
13362
13366
13368
13370
13372
13374
13376
13378
13380
13400
14000
14002
14012
14014
14016
14018
14020
14021
14022
14024
14026
14028
14030
14032
14034
14036
14038
14040
14042
14044
14046
14050
14052
14053
14054
14055
14058
14114
14122
14123
14124
14125
14128
14200
15000
15010
15050
15052
15053
15054
15056
15058
15060
15061
15062
15064
15066
15068

P=PAC(N) :LPRINT USING " PAC(N)= #.#### ";P;
G1=FNZB(P,N1)/FNW2(N1):G2=FNZ4(P,N2)/FNW2(N2)
GG=G1*G2:IF GG=<0! THEN GOTO 13362
GS=LOG(GG) /TL

LPRINT USING " SC=##4# . #### ";GS: GOTO 13400
LPRINT " ODDS= 0. ":GOTO 13400

IF PAR(N)=<0! OR PAR(N)>.5 THEN GOTO 13400
P=PAR(N) :LPRINT USING " PAR(N)= #.#### ";P;
G21=FNZ4(P,N1)/FNWZ(N1):G22=FNZ3(P,N2)/FNW2(N2
GG2=G21%*G22: IF GG2=<0! THEN GOTO 13380
GS2=LOG(GG2) /TL

LPRINT USING " SC=###.#4#4 " ,GS2

GOTO 13400

LPRINT " ODDS= 0. "

GOTO 18490

’3:1:3:1

’LPRINT "AGENS$(N)= ";AGEN$ (N) : LPRINT "MAS(N)=
"LPRINT "NAS(N)= ";NAS(N) : LPRINT: LPRINT

IF JLIN(N)=0 THEN GOTO 14050

K1=C(N,1,1):K2=C(N,1,2)
K3=C(N,2,1):K4=C(N,2,2)

LPRINT:LPRINT:LPRINT USING "LOD SCORE & &*&
IF PDAC(N)=<0! OR PDAC(N)>.5 THEN GOTO 14036
P=PDAC(N) :LPRINT USING " PDAC(N)= #.#### ";P;
U1=FNZS(P,K1)/FNW2(K1):UZ:FNZ4(P,K3)/FNW2(K3)
U3=FNZZ(P,K2)/FNW4(K2):U4=FNZ1(P,K4)/FNW4(K4)
UU=U1*0U2%U3*U4

SC=LOG(UU)/TL:LPRINT USING " SC=###.4###4 ";S
GOTO 14050

IF PDAR(N)=<0! OR PDAR(N)>.5 THEN GOTO 14050
P=PDAR(N) :LPRINT USING " PDAR(N)= #.#### "5 P
U1=FNZ4(P,K1)/FNW2(K1):U2=FNZS(P,K3)/FNW2(K3)
U3=FNZl(P,K2)/FNW4(K2):U4=FNZZ(P,K4)/FNW4(K4)
UU=U1%#U2%U3*U4

SC=LOG(UU) /TL:LPRINT USING " SC=###.4### ";8S
’ LOD SCORE CALCULATION FOR DGEN$(N) 3:1

)

C

C

" ;MAS(N)

&" ;DGEN$ (N) , AGEN$ (N)

LPRINT:LPRINT:LPRINT USING "LOD SCORE & &" ;DGEN$ (N)

IF JCD(N)=0 THEN GOTO 14114
GOSUB 340586

’ LOD SCORE CALCULATION FOR AGEN$(N) 1:1

LPRINT:LPRINT:LPRINT USING "LOD SCORE & &" ; AGEN$ (N)

IF JCA(N)=0 THEN GOTO 14200

GOSUB 33346

GOTO 18490
ON MAS(N) GOTO 15050,15050,16000
' 9:3:3:1
’ LPRINT OUT OF DATA 3:1 AGEN$ (N)
"LPRINT "AGEN$(N)= ";AGEN$ (N):LPRINT "MAS(N)= ";MAS(N)
’LPRINT "NAS(N)= ";NAS(N):LPRINT:LPRINT

IF JLIN(N)=0 THEN GOTO 15110
K1=C(N,1,1):K2=C(N,1,2)
K3=C(N,2,1):K4=C(N,2,2)

LPRINT:LPRINT:LPRINT USING "LOD SCORE & &*
IF PDAC(N)=<0! OR PDAC(N)>.5 THEN GOTO 15076
P=PDAC(N) :LPRINT USING " PDAC(N)= #.#### ";P;
U1=FNZS(P,K1)/FNW1(K1):U2=FNZG(P,K2)/FNW3(KZ)
U3=FNZG(P,K3)/FNW3(K3):U4=FNle(P,K4)/FNW5(K4)
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15070
15072
15074
15076
15078
15080
15082
15084
15086
15088
15090
15092
15094
15098
15100
15102
15104
151086
15110
15111
15112
15113
15114
15116
15170
15172
15174
15175
15176
15177
15178
15232
16000
16002
16010
16012
16014
16016
16020
16022
16024
16025
16026
16028
16030
16032
16034
16036
16038
16040
16042
16044
16046
16048
16050
16054
16055
16056
16057
16058
16059
16110
16112

UU=U01*U2%U3*U4
SC=LOG(UU)/TL:LPRINT USING
GOTO 15090

" SC=##4#.#44##

HAEHRFEI2S 96

".sC

IF PDAR(N)=<0! OR PDAR(N)>.5 THEN GOTO 15090
P=PDAR(N) :LPRINT USING " PDAR(N)= #.#### ";P;
U1=FNZ7(P,K1)/FNW1(X1):U2=FNZ8(P,K2)/FNW3(K2)
U3=FNZ8(P,K3)/FNW3 (K3) :U4=FNZ12 (P,K4) /FNW5(K4)

UU=U1#02%U3%U4
SC=LOG(UU)/TL:LPRINT USING

IF LCR(N)=1 THEN GOTO 15110

" SC=###.###4#

";SC

B1=FNZ9(P,K1)/FNW1 (K1) :B2=FNZ10(P,K2)/FNW3(K2)
B3=FNZ10(P,K3) /FNW3(K3) :B4=FNZ13(P,K4)/FNW5(K4)
BB=B1*B2*B3%B4:IF BB=<0! THEN GOTO 15106

CR=LOG(BB)/TL

P=PDACR(N) :LPRINT:LPRINT USING " PDACR(N)= #.#### ",;P;

LPRINT USING " CR=###.#### ";CR:GOTO 15110

LPRINT " COUP.AND REP., ODDS= 0.0 "
' LOD SCORE CALCULATION FOR DGEN$(N) 3:1

LPRINT:LPRINT:LPRINT USING
IF JCD(N)=0 THEN GOTO 15172

GOSUB 34056

3

"LOD SCORE &

> LOD SCORE CALCULATION FOR AGEN$(N) 3:1

LPRINT:LPRINT:LPRINT USING
IF JCA(N)=0 THEN GOTO 15232

GOSUB 35177
GOTO 18490

ON MAS(N) GOTO 16010,17000,
' 1:2:1:1:2:1

"LOD SCORE &

18000

> LPRINT OUT OF DATA 1:1 AGENS$(N)
"LPRINT "AGEN$(N)= ";AGEN$(N):LPRINT "MAS(N)= ";MAS(N)
"LPRINT "NAS(N)= ";NAS(N):LPRINT:LPRINT
IF JLIN(N)=0 THEN GOTO 16054

K1=C(N,1,1):K3=C(N,1,3)
K4=C(N,2,1):K6=C(N,2,3)
LPRINT:LPRINT:LPRINT USING

"LOD SCORE &

&" ;DGEN$ (N)

&" ; AGEN$ (N)

&* & &" ;DGEN$ (N) ,AGEN$ (N)

IF PDAC(N)=<0! OR PDAC(N)>.5 THEN GOTO 16040
P=PDAC(N) :LPRINT USING " PDAC(N)= #.#### ";P;
U1=FNZ1(P,K1)/FNW4 (K1) :U2=FNZ1(P,K6)/FNW4(K6)
U3=FNZ2(P,K3)/FNW4 (K3) :U4=FNZ2(P,K4)/FNW4 (K4)

UU=U1%U2#U3%U4
SC=LOG(UU)/TL:LPRINT USING
GOTO 16054

" SC=###.#444#

".8C

IF PDAR(N)=<0! OR PDAR(N)>.5 THEN GOTO 16054
P=PDAR(N) :LPRINT USING " PDAR(N)= #.#### ";P;
U1=FNZ2(P,K1)/FNW4 (K1) :U2=FNZ2(P,K6)/FNW4(K6)
U3=FNZ1(P,K3)/FNW4 (K3) : U4=FNZ1 (P,K4) /FNW4 (K4)

UU=U1*U2%U3%U4
SC=LOG(UU)/TL:LPRINT USING

" SC=###.####

’ LOD SCORE CALCULATION FOR DGEN$(N) 1:2:1

LPRINT:LPRINT:LPRINT USING
IF JCD(N)=0 THEN GOTO 16110

GOSUB 36058

"LOD SCORE &

’ LOD SCORE CALCULATION FOR AGEN$(N) 1:1

LPRINT:LPRINT:LPRINT USING

"LOD SCORE &
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16113
16114
16115
16118
16152
17000
17002
17010
17014
17016
17018
17020
17022
17024
17025
17026
17028
17030
17032
17034
17038
17040
17041
17042
17044
17046
17048
17050
17054
17056
17060
17062
17064
17066
17068
17070
17072
17074
17076
17082
17084
17085
17086
17087
17138
17140
17141
17142
17143
17144
17900
17950
17999
18000
18001
18002
18004
18006
18008
18010
18012
18014
18016

IF JCA(N)=0 THEN GOTO 16152

GOSUB 33346

GOTO 18490

> 3:6:3:1:2:1

"LPRINT "AGEN$(N)= ";AGEN$(N):LPRINT "MAS(N)= ";MAS(N)
"LPRINT "NAS(N)= ";NAS(N):LPRINT:LPRINT

> LOD SCORE CALCULATION FOR 3:6:3%1:2:1 SEGREGATION
IF JLIN(N)=0 THEN GOTO 17082

K1=C(N,1,1):K2=C(N,1,2):K3=C(N,1,3)
K4=C(N,2,1):K5=C(N,2,2) :K6=C(N,2,3)
LPRINT:LPRINT:LPRINT USING "LOD SCORE & &* &
IF PDAC(N)=<0! OR PDAC(N)>.5 THEN GOTO 17042
P=PDAC(N) :LPRINT USING " PDAC(N)= #.#### ";P;
U1=FNZ8(P,K1)/FNW3 (K1) :U2=FNZ6 (P,K3)/FNW3 (K3)
U3=FNZ15(P,K2)/FNW2(K2) : U4=FNZ12(P,K4) /FNW5 (K4)
U5=FNZ11(P,K6)/FNW5(K6) : U6=FNZ16 (P,K5) /FNW4 (K5)
UU=U1%U2%U3*U4*U5%U6

SC=LOG(UU)/TL:LPRINT USING " SC=###.#4## ";SC
GOTO 17060
IF PDAR(N)=<0! OR PDAR(N)>.5 THEN GOTO 17060

P=PDAR(N) :LPRINT USING " PDAR(N)= #.#### ";P;
U1=FNZ8(P,K3)/FNW3(K3):U2=FNZ6(P,K1)/FNW3 (K1)
U3=FNZ15(P,K2)/FNW2(K2) : U4=FNZ11(P,K4)/FNW5 (K4)
U5=FNZ12(P,K6)/FNW5 (K6) : U6=FNZ16 (P,K5) /FNW4 (K5)
UU=U1*%U2*U3*U4*U5*U6

SC=LOG(UU) /TL:LPRINT USING " SC=###.#### ";SC
IF LCR(N)=1 THEN GOTO 17082
B1=FNZ10(P,K1)/FNW3 (K1) :B2=FNZ10(P,K3)/FNW(K3)
B3=FNZ14(P,K2)/FNW2(K2) :B4=FNZ13 (P,K4) /FNW5 (K4)
B5=FNZ13(P,K6)/FNW5(K6) :B6=FNZ17(P,K5)/FNW4 (K5)
BB=B1*B2*B3*B4#*B5*B6: IF BB=<0! THEN GOTO 17076
CR=LOG(BB)/TL

LPRINT:LPRINT USING " PDACR(N)= #.#### ";P;
LPRINT USING " CR=###.#### ";CR:GOTO 17082
LPRINT " COUP.AND REP., ODDS= 0.0 "

> LOD SCORE CALCULATION FOR DGEN$(N) 1:2:1

&" ;DGEN$ (N) ,AGEN$ (N)

LPRINT:LPRINT:LPRINT USING "LOD SCORE & &" ;DGEN$ (N)

IF JCD(N)=0 THEN GOTO 17140

GOSUB 36058

3

’ LOD SCORE CALCULATION FOR AGEN$(N) 3:1

LPRINT:LPRINT:LPRINT USING "LOD SCORE & &" ; AGEN$ (N)

IF JCA(N)=0 THEN GOTO 17900
GOSUB 35177

GOTO 184890

>

’ LOD SCORE CALCULATION FOR 1:2:1 * 1:2:1 SEGREGATION

’1:2:1:2:4:2:1:2:1

IF JLIN(N)=0 THEN GOTO 18082
K1=C(N,1,1):K2=C(N,1,2):K3=C(N,1,3)
K4=C(N,2,1):K5=C(N,2,2):K6=C(N,2,3)
K7=C(N,3,1):K8=C(N,3,2):K9=C(N, 3,3)
LPRINT:LPRINT:LPRINT USING "LOD SCORE & &* &
IF PDAC(N) < 0! OR PDAC(N) >.5 THEN GOTO 18038
P=PDAC(N): LPRINT USING " PDAC(N)= #.#### ";P;
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18018
18020
18022
18024
18026
18028
18030
18034
18038
18040
18042
18044
18046
18048
18050
18052
18054
18060
18062
18064
18066
18068
18070
18072
18074
18076
18078
18082
18083
18084
18085
18086
18137
18138
18140
18141
18142
18144
18146
18148
18150
18152
18154
18156
18158
18160
18162
18164
18166
18168
18170
18172
18174
18176
18178
18180
18182
18184
18186
18188
18190
18192
18490

FAFHHFEL2T 96

U1=FNZ11(P,K1)/FNW5(K1):U2=FNZ11(P,K9)/FNW5(K9)
U3=FNZ6 (P,K2)/FNW4 (K2) : U4=FNZ6 (P,K4 ) /FNW4 (K4)

U5=FNZ6 (P,K6) /FNW4 (K6) : U6=FNZ6 (P,K8) /FNW4 (K8)
UT=FNZ12(P,K3)/FNW5 (K3) :U8=FNZ12(P,K7)/FNW5(K7)
U9=FNZ18(P,K5)

UU=U1%U2%U3%U4*U5*UB*UT*UB*U9

SC=LOG(UU)/TL:LPRINT USING " SC=###.#### ";SC

GOTO 18060

IF PDAR(N) <O! OR PDAR >.5 THEN GOTO 18060

P=PDAR(N): LPRINT:LPRINT USING " PDAR(N)= #.#### ";P;
U1=FNZ12(P,K1)/FNW5 (K1) :U2=FNZ12(P,K9)/FNW5(K9)
U3=FNZ6(P,K2)/FNW4 (K2) : U4=FNZ6 (P,K4) /FNW4 (K4)

U5=FNZ6 (P,K6) /FNW4 (K6) : U6=FNZ6 (P,K8) /FNW4 (K8)
U7=FNZ11(P,K3)/FNW5(K3) :U8=FNZ11(P,K7)/FNW5(K7)
U9=FNZ18(P,K5)

UU=U1*U2%U3*U4%U5*U6%UT*UB*U9

SC=LOG(UU)/TL:LPRINT USING " SC=###.#### ";SC

IF LCR(N)=1 THEN GOTO 18082

IF PDACR(N) < O! OR PDACR(N) >.5 THEN GOTO 18082
P=PDACR(N): LPRINT:LPRINT USING " PDACR(N)= #.#### ";P;
U1=FNZ13(P,K1)/FNW5 (K1) :U2=FNZ13 (P,K3)/FNW5 (K3)
U3=FNZ13(P,K7)/FNW5 (K7) :U4=FNZ13 (P,K9) /FNW5 (K9)
U5=FNZ17(P,K2)/FNW4 (K2) :U6=FNZ17(P,K4)/FNW4 (K4)
UT=FNZ17(P,K6)/FNW4 (K6) : UB=FNZ17 (P,K8) /FNW4 (K8)
U9=FNZ19(P,K5)

UU=U1*U2%U3*%U4%U5*U6*UT*UB*U9

SC=LOG(UU)/TL:LPRINT USING " SC=###.#### ";SC

’ LOD SCORE CALCULATION FOR DGEN$(N) 1:2:1
LPRINT:LPRINT:LPRINT USING "LOD SCORE & &" ;DGEN$ (N)
IF JCD(N)=0 THEN GOTO 18138

GOSUB 36058

’ LOD SCORE CALCULATION FOR AGEN$(N) 1:2:1

LPRINT:LPRINT:LPRINT USING "LOD SCORE & &" ; AGEN$ (N)

IF JCA(N)=0 THEN GOTO 184890

N1=SA(N, 1) :N2=SA(N,2):N3=SA(N,3) :N4=SA(N, 1)+SA(N, 3)

IF PAC(N)=<0! OR PAC(N)>.5 THEN GOTO 18158

P=PAC(N) :LPRINT USING " PAC(N)= #.#### ";P;

G1=FNZ8(P,N1)/FNW3(N1) :G2=FNZ10(P,N2)/FNW3 (N2) : G3=FNZ6 (P, N3) /FNW3 (N3)
GG=G1*G2*G3:IF GG=<0! THEN GOTO 18156

GS=L0OG(GG) /TL

LPRINT USING "  SC=###.#### ";GS:GOTO 18158

LPRINT " ODDS= 0. ":GOTO 18174

IF PAR(N)=<0! OR PAR(N)>.5 THEN GOTO 18174

P=PAR(N) :LPRINT USING " PAR(N)= #.#### ";P;
G21=FNZ8(P,N3)/FNW3(N3) : G22=FNZ10(P,N2)/FNW3(N2) : G23=FNZ6 (P,N1) /FNW3 (N1)
GG2=G21*G22*G23: IF GG2=<0! THEN GOTO 18172

GS2=LOG(GG2) /TL

LPRINT USING " SC=###.#### ";GS2
GOTO 18174
LPRINT " opps= 0. "

IF LCR(N)=1 THEN GOTO 18490

IF PACR(N)=<0! OR PACR(N)>.5 THEN GOTO 18192

P=PACR(N)

H1=FNZ10(P,N1)/FNW3(N1) :H2=FNZ10(P,N3)/FNW3 (N3) :H3=FNZ14 (P,N2)/FNW2(N2)
HH=H1*H2*H3: IF HH <=0! THEN GOTO 18190

HS=LOG(HH) /TL

LPRINT:LPRINT USING " PACR(N)= #.#### ";P;

LPRINT USING " SC=###.#### ";HS:GOTO 18490

LPRINT " ODDS= 0. ":GOTO 18490
LPRINT " O > PACR(N) > 0.5 "
NEXT
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18500 END

23250 ’

23251 ’ CALCULATION OF VALUE OF RECOMBINATION

23253

23254 ° GOSUB 23255 DATA OUTPUT FOR AGEN$ 1:1

23255 LPRINT "AGEN$(N)= ";AGEN$(N):LPRINT "MAS(N)= ";MAS(N)
23256 LPRINT "NAS(N)= ";NAS(N)

23257 FOR I=1 TO NAS(N):LPRINT USING " & & ";D1$(I);
23258 FOR J=1 TO NDS(N)

23259 LPRINT USING "##### ";C(N,I,J);

23260 NEXT J

23261 LPRINT USING " ##### ";SA(N,I)

23262 NEXT I

23263 LPRINT:LPRINT " TOTAL ",

23264 FOR J=1 TO NDS(N)
23265 LPRINT USING " ##### ";SB(N,J);
23266 NEXT J

23267 LPRINT USING " ####4 " SN(N)

23268 RETURN

23288 °

23289 ° GOSUB 23290 CHI-SQUARE DATA

23290 LPRINT USING "DGEN$(N)= & & ";DGEN$ (N);

23281 LPRINT USING "  df=## "iK1;

23292 LPRINT USING " 5%=###.### 1% =###.### ";CHID5;CHID1
23294 LPRINT USING "AGEN$(N)= & & ";AGEN$(N);

23296 LPRINT USING "  df=## "K2;

23298 LPRINT USING " 5%=###.4#4 1% =##4# . ### " ;CHIA5;CHIAL
23300 ’

23302 LPRINT "DGEN$ (N)*AGEN$(N) ";

23304 LPRINT USING " df=## ",K12;

23306 LPRINT USING " 5%=###.### 1% =###.### “;CHIDA5;CHIDA1
23307 LPRINT " LINKAGE ";

23308 LPRINT USING " df=## ", K22;

23309 LPRINT USING " b%=###.4#44 1% =###.##4 ";CV5,CV1
23310 RETURN

23322 °

23323 ’ GOSUB 23324 CHI-SQURE TEST

23324 LPRINT "DGENS$ (N)*AGEN$(N)";

23326 LPRINT USING " df=## ";K12;

23328 LPRINT USING "CDA(N)= ###.### ";CDA(N);

23330 IF CDA(N) > CHIDA5 THEN 23336

23332 °

23334 LPRINT USING " JCDA(N)= ## ";JCDA(N) :GOTO 23348
23336 IF CDA(N) > CHIDA1l THEN 23344

23338 JCDA(N)=1:LPRINT "#* D-A LINKAGE ?";

23340 LPRINT USING " JCDA(N)= ## ";JCDA(N) :GOTO 23348

23342

23344 JCDA(N)=2:LPRINT "#%% D-A LINKAGE ?";

23346 LPRINT USING " JCDA(N)= ## ";JCDA(N)

23348

23350 LPRINT USING "DGEN$ (N)= & &" ;DGEN$ (N) ;

23352 LPRINT USING " df=## ";KL;

23354 LPRINT USING "CD(N)= ###. ###4 ";CD(N);

23356 IF CD(N) > CHID5 THEN 23362

23358 JCD(N)=0:LPRINT "NS "
23360 LPRINT USING " JCD(N)= ## ";JCD(N) : GOTO 23374
23362 IF CD(N) > CHID1 THEN 23370

23364

23366 JCD(N)=1:LPRINT "* lethal gene—-1";

23368 LPRINT USING " JCD(N)= #¢# ";JCD(N) :GOTO 23374

23370 JCD(N)=2:LPRINT "*%* lethal gene—-1";

23372 LPRINT USING " JCD(N)= ## ";JCD(N)

23374
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23376
23378
23380
23382
23384
23386
23388
23390
23392
23394
23396
23398
23400
23402
23404
23406
23408
23410
23412
23414
23418
23420
23422
23423
23424
23500
23501
23502
23504
23506
23508
23510
23512
23514
23516
23518
23520
23522
23524
23526
23528
23529
23530
24304
24305
24306
24308
24310
24312
24314
24316
24318
24320
24322
24324
24326
24328
24330
24332
24334
24336
24338
24340
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LPRINT USING "AGEN$(N)= & &" ; AGEN$ (N) ;
LPRINT USING " df=## ";K2;

LPRINT USING "CA(N)= ###.### ";CA(N);

IF CA(N) > CHIA5 THEN 23388

JCA(N)=0:LPRINT "NS ";

LPRINT USING " JCA(N)= ## ";JCA(N):GOTO 23400
IF CA(N) > CHIAl1l THEN 23396

JCA(N)=1:LPRINT "* lethal gene-2";

LPRINT USING " JCA(N)= ## ";JCA(N):GOTO 23400
JCA(N)=2:LPRINT "*%* lethal gene-2";

LPRINT USING " JCA(N)= ## ";JCA(N)

LPRINT " LINKAGE ";

LPRINT USING " df=## ";K22;

LPRINT USING "CLIN(N)=###.### ";CLIN(N);

IF CLIN(N)> CV5 THEN 23414

JLIN(N)=0:LPRINT "NS ";

LPRINT USING " JLIN(N)= ## ";JLIN(N):GOTO 23424
IF CLIN(N) > CV1l THEN 23422

JLIN(N)=1:LPRINT "* D-A LINKAGE ";

LPRINT USING " JLIN(N)= ## ";JLIN(N):GOTO 23424
JLIN(N)=2:LPRINT "#% D—A LINKAGE ";

LPRINT USING " JLIN(N)= ## ";JLIN(N)

RETURN

* GOSUB 23502 CALCULATION OF VALUE OF RECOMBINATION FOR AGEN$ 1:1
P=(2!*SA(N,2)-SA(N,1))/SN(N)

VR=((1!+P)*(2!-P))/SN(N)

LPRINT:LPRINT:LPRINT " PHASE RECOM. VALUE VARIANCE
LPRINT USING " AGEN$(N)= & & ";AGENS$ (N)

IF P > .5 THEN GOTO 23524

PAC(N)=P

AVC(N)=VR

LPRINT " 1. COUP.DL/d1 ";

LPRINT USING " PAC(N)= #. 444444 ", PAC(N);
LPRINT USING " AVC(N)= #.######4###44 " ;AVC(N)
GOTO 23530

PAR(N)=1!-P:AVR(N)=VR
LPRINT " 1. REP. DI1/dL ";

LPRINT USING " PAR(N)= # . ##44444 " ;PAR(N);
LPRINT USING " AVR(N)= #.###4#44484444 ", AVR(N)

RETURN

’ GOSUB 24306 CALCULATION OF VALUE OF RECOMBINATION FOR DGEN$ 3:1
A0=3!%SB(N, 2)

A1=-21%*SB(N,1)-5!*SB(N,2)

A2=3!%SB(N,1)+3!*SB(N,2)

A3=—SN(N)

A4=0!

A5=0!

P=.001:EPS=1E-08
Y1=FNY(AO,Al,A2,A3,A4,A5,P)
Y2=FNYD(A1,A2,A3,A4,A5,P)

P1=P-Y1/Y2

IF (ABS(P1-P)/ABS(P)) <= EPS THEN GOTO 24334

P=P1

GOTO 24322

LPRINT:LPRINT:LPRINT " PHASE RECOM. VALUE VARIANCE

LPRINT USING " DGEN$(N)= & & ";DGEN$(N)
V1=(3!-21%P+P"2)*(2!*P-P"2)
V2=41%SN(N)* (1! -21*%P+P"2)
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24342 VR=V1/V2

24344 IF P > .5 THEN GOTO 24358

24346 PDC(N)=P

24348 DVC(N)=VR

24350 LPRINT " 1. COUP.DL/dl “;

24352 LPRINT USING " PDC(N)=  #.###### ";PDC(N);
24354 LPRINT USING " DVC(N)= #.#####444##44 ";DVC(N)
24356 GOTO 24366

24358 PDR(N)=1!~-P:DVR(N)=VR

24360 LPRINT " 1. REP. Dl/dL ";

24362 LPRINT USING " PDR(N)=  #.###### ";PDR(N);
24364 LPRINT USING " DVR(N)= #.######44###4 ";DVR(N)
24366 °’

24410 IF LCR(N)=1 THEN GOTO 24461

24412 ’ COUP. AND REP.

24414 A0=SB(N,1)-21*SB(N,2)

24416 A1=-3!%SB(N,1)+3!*SB(N,2)

24418 A2=31*SN(N)

24420 A3=-21%SN(N)

24422 A4=01!:A5=0!

24424 °

24426 P=.001:EPS=1E-09

24428 Y1=FNY(AO,Al,A2,A3,A4,A5,P)

24430 Y2=FNYD(A1,A2,A3,A4 A5,P)

24432 P1=P-Y1/Y2

24434 IF (ABS(P1-P)/ABS(P)) <= EPS THEN GOTO 24440
24436 P=P1

24438 GOTO 24428

24440 VR4=SN(N)*(1!—4!%P+41%P"2)

24442 IF VR4 =< 0! THEN GOTO 24452

24448 DVCR(N):((2!+P—P“Z)*(1—P+PA2))/(SN(N)*(l!—4!*P+4!*P‘2))
24450 GOTO 24454

24452 DVCR(N)=0!

24454 PDCR(N)=P

24456 LPRINT " 3. COUP.AND REP.";

24458 LPRINT USING " PDCR(N)= #.###### " ;PDCR(N);
24460 LPRINT USING " DVCR(N)= #.#######4#4## " ;DVCR(N)
24461 RETURN

25051

25052 ’ GOSUB 25053 DATA OUTPUT FOR AGENS$ 3:1

25053 LPRINT "AGEN$(N)= ";AGEN$(N) :LPRINT "MAS(N)= ";MAS(N)
25054 LPRINT "NAS(N)= ";NAS(N)

25055

25056 FOR I=1 TO NAS(N):LPRINT USING " & & ";D2$(1);

25057 FOR J=1 TO NDS(N)
25058 LPRINT USING " ##### ";C(N,I,J);
25059 NEXT J

25060 LPRINT USING " ###4#4# ";SA(N,I)
25061 NEXT I
25062 LPRINT:LPRINT " TOTAL ";

H

25063 FOR J=1 TO NDS(N)
25064 LPRINT USING " ##### ";SB(N,J);
25065 NEXT J

25066 LPRINT USING " ##### " ;SN(N)
25068 RETURN
25627

25628 ’ GOSUB 25629 CALCULATION OF VALUE OF RECOMBINATION FOR AGEN$ 3:1
25629 AQ0=3!*SA(N,2)

25630 A1=—2!#*SA(N,1)-5!%*SA(N,2)

25631 A2=3!*SA(N,1)+3!*SA(N,2)

25632 A3=-SN(N)

25633 A4=0!

25634 A5=0!
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25635 °

25636 P=.001:EPS=1E-08

25637 Y1=FNY(AO,Al1,A2,A3,A4,A5,P)

25638 Y2=FNYD(A1l,A2,A3,A4,A5,P)

25639 P1=P-Y1/Y2

25640 IF (ABS(P1-P)/ABS(P)) <= EPS THEN GOTO 25643

25641 P=P1
25642 GOTO 25637
25643 LPRINT:LPRINT:LPRINT " PHASE RECOM. VALUE VARIANCE "

25644 LPRINT USING " AGEN$(N)= & & ";AGENS$ (N)
25645 V1=(3!1-21%P+P"2)*(2!%P-P"2)

25646 V2=41%SN(N)*(1!-2!*P+P"2)

25647 VR=V1/V2

25648 IF P > .5 THEN GOTO 25655

25649 PAC(N)=P

25650 AVC(N)=VR

25651 LPRINT " 1. COUP.DL/dl ";
25652 LPRINT USING "  PAC(N)=  #.###### ";PAC(N);
25653 LPRINT USING " AVC(N)= #.###8#4588#8% " AVC(N)
25654 GOTO 25659

25655 PAR(N)=1!-P:AVR(N)=VR

25656 LPRINT " 1. REP. Dl/dL ";

25657 LPRINT USING " PAR(N)= #.#####% ", PAR(N);
25658 LPRINT USING " AVR(N)= #.#####4444444 ";AVR(N)
25659 °’

25682 IF LCR(N)=1 THEN GOTO 257086

25683 ’ COUP. AND REP.

25684 AO0=SA(N,1)—21%SA(N,2)

25685 Al=-3!*SA(N,1)+3!*SA(N,2)

25686 A2=31%SN(N)

25687 A3=—2!%*SN(N)

25688 A4=0!:A5=0!

25689 °

25690 P=.001:EPS=1E-09

25691 Y1=FNY(AO,Al,A2,A3,A4,A5,P)

25692 Y2=FNYD(A1,A2,A3,A4,A5,P)

25693 P1=P-Y1/Y2

25694 IF (ABS(P1-P)/ABS(P)) <= EPS THEN GOTO 25697
25695 P=P1

25696 GOTO 25691

25697 VR7=SN(N)*(1!~41%P+41*P"2)

25698 IF VR7 =< 0 THEN GOTO 25701

25699 AVCR(N)=((2!4+P-P"2)% (1-P+P"2))/(SN(N)*(1!~41%P+41%P"2))
25700 GOTO 25702

25701 AVCR(N)=0!

25702 PACR(N)=P

25703 LPRINT " 3. COUP.AND REP.";

25704 LPRINT USING " PACR(N)= #.###### ";PACR(N);
25705 LPRINT USING " AVCR(N)= #.###8###4#4#%8 " ;AVCR(N)
25706 RETURN

26358

26359 ’ GOSUB 26360 CALCULATION OF VALUE OF RECOMBINATION FOR DGEN$ 1:2:1
26360 A0=21%SB(N,3)

26362 Al=—21%SB(N,2)-4!%*SB(N,3)

26364 A2=—4!1*%SB(N,1)+5!*SB(N,2)+2!%SB(N,3)

26366 A3=6!%SB(N,1)+2!%SB(N,3)

26368 A4=—61%SB(N,1)-5!1*SB(N,2)-4!*SB(N, 3)

26370 A5=21%SN(N)

26372 °

26374 P=.001:EPS=1E-08

26376 Y1=FNY(AO,Al,A2,A3,A4,6A5,P)

26378 Y2=FNYD(Al,A2,A3,A4,A5,P)

26380 P1=P-Y1/Y2
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26382 IF (ABS(P1-P)/ABS(P)) <= EPS THEN GOTO 26388

26384 P=P1
26386 GOTO 26376
26388 LPRINT:LPRINT:LPRINT " PHASE RECOM. VALUE VARIANCE "

26390 LPRINT USING " DGEN$(N)= & & ";DGEN$ (N)
26392 V1=31%P%(2!—P)*(1!1-P"2)%(11-P+P"2)

26394 V2=21%SN(N)*(21-41%P-31%P"2+141%P"~3-71%P"4)
26396 VR=V1/V2

26398 IF P > .5 THEN GOTO 26412

26400 PDC(N)=P

26402 DVC(N)=VR

26404 LPRINT " 1. COUP.DL/dl ";

26406 LPRINT USING "  PDC(N)=  #.&##### ";PDC(N);
26408 LPRINT USING " DVC(N)= #.####8848884% ";DVC(N)
26410 GOTO 26420

26412 PDR(N)=1!-P:DVR(N)=VR

26414 LPRINT " 1. REP. D1/dL ";

26416 LPRINT USING " PDR(N)=  #.###### ";PDR(N);
26418 LPRINT USING " DVR(N)= #.####4#88#48# ";DVR(N)
26419 ° COUP. AND REP.

26420 IF LCR(N) = 1 THEN GOTO 26509

26422 A0=—SB(N,1)+2!%SB(N,2)-SB(N, 3)

26424 Al=—6!%*SB(N,2)

26426 A2=61%SN(N)

26428 A3=—41%SN(N)

26430 A4=01:A5=0!

26434 P=.001:EPS=1E—09

26436 Y1=FNY(AO,Al,A2,A3,A4,A5,P)

26438 Y2=FNYD(A1l,A2,A3,A4,A5,P)

26440 P1=P-Y1/Y2

26442 IF (ABS(P1-P)/ABS(P)) <= EPS THEN GOTO 26486
26444 P=P1

26446 GOTO 26436

26484 °

26486 VR6=SN(N)#* (1!-4!%P+41%P"2)

26488 IF VR6 =< 0! THEN GOTO 26494

26490 DVCR(N)=((1!=P+P"2)*(11+21%P-21%P"2))/(2!*%SN(N)*(1!1—-41%P+41%P"2))
26492 GOTO 26500

26494 DVCR(N)=0!

26500 PDCR(N)=P

26502 LPRINT " 3. COUP.AND REP.";

26504 LPRINT USING " PDCR(N)= #.###### ";PDCR(N);
26506 LPRINT USING " DVCR(N)= #.#######4444# ";DVCR(N):GOTO 26509

26508 'LPRINT " 3. COUP. AND REP. - SQR(-) "
26509 RETURN
33343 °

33344 ’ LOD SCORE CALCULATION

33345 ° GOSUB 33346 CALCULATION OF LOD SCORE FOR AGEN$ 1:1
33346 N1=SA(N,1):N2=SA(N,2)

33348 IF PAC(N)=<0! OR PAC(N)>.5 THEN GOTO 33366
33350 P=PAC(N):LPRINT USING " PAC(N)= #.#### ";P;
33354 G1=FNZ3(P,N1)/FNW2(N1):G2=FNZ4(P,N2)/FNW2(N2)
33356 GG=G1*G2:IF GG=<0! THEN GOTO 33362

33358 GS=LOG(GG)/TL

33360 LPRINT USING " SC=###.#### ";GS: GOTO 33400
33362 LPRINT " ODDS= 0. ":GOTO 33400

33366 IF PAR(N)=<0! OR PAR(N)>.5 THEN GOTO 33400
33368 P=PAR(N):LPRINT USING " PAR(N)= #.####¢ ";P;
33370 G21=FNZ4(P,N1)/FNW2(N1):G22=FNZ3(P,N2)/FNW2(N2)
33372 GG2=G21*G22: IF GG2=<0! THEN GOTO 33380

33374 GS2=LOG(GG2)/TL

33376 LPRINT USING " SC=###.#### ";GS2

33378 GOTO 33400
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33380 LPRINT " OoDDS= 0. "

33400 RETURN

34054 °

34055 ’ GOSUB 34056 CALCULATION OF LOD SCORE FOR DGEN$ 3:1
34056 N1=SB(N,1):N2=SB(N,2)

34058 IF PDC(N)=<0! OR PDC(N)>.5 THEN GOTO 34076
34060 P=PDC(N):LPRINT USING " PDC(N)= #.####";P;
34061 G11=(3!-21*P+P"2)/2.25:G1=G11"N1

34062 G22=(2!*P-P"2)/.75:G2=G22"N2

34066 GG=G1*G2:IF GG=<0! THEN GOTO 34072

34068 GS=LOG(GG)/TL

34070 LPRINT USING " SC=###.#### ";GS: GOTO 34094
34072 LPRINT " ODDS= 0. ":GOTO 34094

34076 IF PDR(N)=<0! OR PDR(N)>.5 THEN GOTO 34094
34078 P=PDR(N):LPRINT USING " PDR(N)= #.###4 ",;P;
34079 G211=(2!+P"2)/2.25:G21=G211"N1

34081 G222=(1!-P"2)/.75:G22=G222"N2

34082 GG2=G21*%G22: IF GG2=<0! THEN GOTO 34090

34084 GS2=LOG(GG2)/TL

34086 LPRINT USING " SC=###.4##4## ";GS2
34088 GOTO 34094
34090 LPRINT " oppsS= 0. "

34094 IF LCR(N)=1 THEN GOTO 34114

34096 IF PACR(N)=<0! OR PACR(N)>.5 THEN GOTO 34110
34098 P=PACR(N):LPRINT:LPRINT USING " PACR(N)= #.#### ";P;
34099 H11=(2!4+P-P"2)/2.25:H1=H11"N1

34101 H22=(1!-P+P"2)/.75:H2=H22"N2

34102 HH=H1%H2: IF HH =<0! THEN GOTO 34108

34104 HS=LOG(HH)/TL

34106 LPRINT USING " SC=###.#### ";HS:GOTO 34114
34108 LPRINT " ODDS= 0. " :GOTO 34114

34110 LPRINT " 0 > PACR(N) > 0.5 "

34114 RETURN

35175 °

35176 ’ GOSUB 35177 CALCULATION OF LOD SCORE FOR AGEN$ 3:1
35177 N1=SA(N,1):N2=SA(N,2)

35178 IF PAC(N)=<0! OR PAC(N)>.5 THEN GOTO 35196
35180 P=PAC(N):LPRINT USING " PAC(N)= #.#### ":P;
35181 G11=(3!-2!%P+P"2)/2.25:G1=G11"N1

35182 G22=(2!%P-P"2)/.75:G2=G22"N2

35186 GG=G1%*G2:IF GG=<0! THEN GOTO 35192

35188 GS=LOG(GG)/TL

35190 LPRINT USING "  SC=###.###4 ";GS: GOTO 35214
35192 LPRINT " ODDS= 0. ":GOTO 35214

35196 IF PAR(N)=<0! OR PAR(N)>.5 THEN GOTO 35209
35198 P=PAR(N):LPRINT USING " PAR(N)= #.#### ":P;
35199 G211=(2!1+P"2)/2.25:G21=G211"N1

35201 G222=(1!-P"2)/.75:G22=G222"N2

35202 GG2=G21%G22: IF GG2=<0! THEN GOTO 35210
35204 GS2=LOG(GG2)/TL

35206 LPRINT USING "  SC=###.#### ";GS2

35208 GOTO 35214

35209 LPRINT " 0 > PAC(N) > 0.5 ":GOTO 35214

35210 LPRINT " oDDS= 0. "

35214 IF LCR(N)=1 THEN GOTO 35231

35216 IF PACR(N)=<0! OR PACR(N)>.5 THEN GOTO 35230
35218 P=PACR(N):LPRINT:LPRINT USING " PACR(N)= #.#### ",;P;
35219 H11=(2!+P-P"2)/2.25:H1=H11"N1

35221 H22=(1!-P+P"2)/.75:H2=H22"N2

35222 HH=H1%H2: IF HH =<0! THEN GOTO 35228

35224 HS=LOG(HH)/TL

35226 LPRINT USING " SC=###.#### ";HS:GOTO 35231
35228 LPRINT " ODDS= 0. " :GOTO 35231
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35230 LPRINT " O > PACR(N) > 0.5 "

35231 RETURN

36056

36057 ’ GOSUB 36058 CALCULATION OF LOD SCORE FOR DGEN$ 1:2:1
36058 N1=SB(N,1):N2=SB(N,2):N3=SB(N,3):N4=SB(N,1)+SB(N,3)
36060 IF PDC(N)=<0! OR PDC(N)>.5 THEN GOTO 36074
36062 P=PDC(N):LPRINT USING " PDC(N)= #.#### "y Py
36064 G1=FNZ8(P,N1)/FNW3(N1):GZ=FNZ10(P,N2)/FNW3(NZ):G3=FNZG(P,N3)/FNW3(N3)
36066 GG=G1*G2*G3:IF GG=<0! THEN GOTO 36072

36068 GS=LOG(GG)/TL

36070 LPRINT USING " SC=###.#### ";GS:GOTO 36087
36072 LPRINT " ODDS= 0. ":GOTO 36090

36074 IF PDR(N)=<0! OR PDR(N)>.5 THEN GOTO 36090
36076 P=PDR(N):LPRINT USING " PDR(N)= #.#### "3 Py
36078 G21=FNZB(P,N3)/FNW3(N3):GZZ=FNZlO(P,N2)/FNW3(N2):G23=FNZG(P,N1)/FNW3(N1)
36080 GG2=G21*G22*%G23:IF GG2=<0! THEN GOTO 36088
36082 GS2=LOG(GG2)/TL

36084 LPRINT USING " SC=###.###4#4 ",;GS2

36086 GOTO 36090

36087 LPRINT " O > PDR(N) > 0.5 ":GOTO 36090

36088 LPRINT " OoDDS= 0. "

36090 IF LCR(N)=1 THEN GOTO 36110

36092 IF PDCR(N)=<0! OR PDCR(N)>.5 THEN GOTO 36108
36094 P=PDCR(N)

36096 Hl=FNZlO(P,N1)/FNW3(N1):HZ=FNZlO(P,N3)/FNW3(N3):H3=FNZ14(P,N2)/FNW2(N2)
36098 HH=H1*H2*H3: IF HH <=0! THEN GOTO 36106
36100 HS=LOG(HH)/TL

36102 LPRINT:LPRINT USING " PDCR(N)= #.#### ", P;
36104 LPRINT USING " SC=###.#### ";HS:GOTO 36110
36106 LPRINT " ODDS= 0. ":GOTO 36110

36108 LPRINT " O > PDCR(N) > 0.5 "

36110 RETURN

59900 °

59901 ~’

59902 ’

59903 DATA Iwao sugi self.1993(Test data)

59904 °

59905 DATA 2

59906

59907 ~’

59908 °’

59809 DATA Dwarf,2,2,Lg,2,2,1

59910 °’

59911 DATA 66,13,79

59912 DATA 15,22,37

59913 DATA 81,35,116

59914 ~

59915 DATA Shd-1,3,3,Lg,2,2,1

59916 ’

59917 DATA 7,47,1,55

59918 DATA 0,2,16,18

59919 DATA 7,49,17,73
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